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$4745? 1. «�><??5>E >E=>6=OE E4D4>F5D<EF<> ?D>7D4<<O: >5NU<, 
E>45D64=<5, ??4=<DG5<O5 D57G?LF4FO» 

 

                         1. �>OE=<F5?L=4O 74?<E>4 

�>4<D<F<D>64==4O 4>?>?=<F5?L=4O >5M5>5D47>64F5?L=4O ?D>7D4<<4 

«�G<46=4O ??4EF<>4» D47D45>F4=4 < E>EF46?5=4 6 E>>F65FEF6<< E >5M5= 

>>=F5?F<5= 6>E?<F4=<O, =4 >E=>65 =>D<4F<6=OE 4>>G<5=F>6, E GG5F>< 

E>6D5<5==OE <5F>4<> < D>D< >5GG5=<O: 
- $545D4?L=O= 74>>= $>EE<=E>>= $545D4F<< >F 29 45>45DO 2012 7. 
7 273-$� «�5 >5D47>64=<< 6 $>EE<=E>>= $545D4F<<»; 
- �D<>47 �<=<EF5DEF64 >5D47>64=<O < =4G>< $$ >F 27 <N?O 2022 7>44 

7 629 >D74=<74F<< < >EGM5EF6?5=<O >5D47>64F5?L=>= 45OF5?L=>EF< ?> 
4>?>?=<F5?L=O< >5M5>5D47>64F5?L=O< ?D>7D4<<4<»; 

- %FD4F57<O D476<F<O 6>E?<F4=<O 6 $>EE<=E>>= $545D4F<< 4> 2025 
7>44, GF65D645==4O D4E?>DO65=<5< �D46<F5?LEF64 $$ >F 29 <4O 2015 7>44 7 
996-D).;  

- �>=F5?F<O D476<F<O 4>?>?=<F5?L=>7> >5D47>64=<O 45F5=, 
GF65D645==4O D4E?>DO65=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 
31 <4DF4 2022 7>44 7 678-D;  

- �>EF4=>6?5=<5 �?46=>7> 7>EG44DEF65==>7> E4=<F4D=>7> 6D4G4 
$>EE<=E>>= $545D4F<< >F 28 E5=FO5DO 2020 7>44 728 «�5 
GF65D645=<< E4=<F4D=OE ?D46<? %� 2.4.3648-20 «%4=<F4D=>-

M?<45<<>?>7<G5E><5 FD55>64=<O > >D74=<74F<O< 6>E?<F4=<O < >5GG5=<O, 
>F4OE4 < >74>D>6?5=<O 45F5= < <>?>456<»;  

- �<EL<> �<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<< >F 18.11.2015             
7 09-3242 «� =4?D46?5=<< <=D>D<4F<<» (�5F>4<G5E><5 D5>><5=44F<< ?> 
?D>5>F<D>64=<N 4>?>?=<F5?L=OE >5M5D476<64NM<E ?D>7D4<< (6>?NG4O 
D47=>GD>6=56O5 ?D>7D4<<O);   

�5F>4<G5E><5 D5>><5=44F<< ?> ?D>5>F<D>64=<N 4>?>?=<F5?L=OE 

>5M5D476<64NM<E ?D>7D4<< < ?D>7D4<< M?5>FD>==>7> >5GG5=<O >F 15<N?O 

2015 7. 
�D< D47D45>F>5 ?D54?4745<4O 4>?>?=<F5?L=4O >5D47>64F5?L=4O 

?D>7D4<<O <E?>?L7>64?<EL D47?<G=O5 ?D>7D4<<O 44==>= =4?D46?5==>EF<: 
?D>7D4<<4 «�G<46=O5 D4=F47<<» (�>F>64 �4F4?LO �4E<?L56=4), ?D>7D4<<4 
«�G<47>??4EF<>4» �64M5=>> �.%.), ?D>7D4<<4 «�>?L55=4O 5G<474» 

(�D4E<?L=<>>64 �4?<=4 �<F4?L56=4), ?D>7D4<<4 «%FD4=4 F6>DG5EF64» 

(�G?74>>64 &4FLO=4 �?5>E4=4D>6=4), 4 F4>65 D47=>>5D47=O5 <5F>4<G5E><5 

?>E>5<O, 6GD=4?O ?> 5G<47>??4EF<>5 < >D<74<<. 
�D>7D4<<4 6>?NG45F 6 E55O 7=4>><EF6> E F5E=>?>7<5= <77>F>6?5=<O 

5G<47<, D47?<G=O5 F5E=<>< < ?D<5<O EG4>65EF65==>= D45>FO E =5=, 
E<EF5<4F<7<DG5F E6545=<O > 5G<475 6 EFD>==GN EFDG>FGDG 6 E>7=4=<< D555=>4, 
>F>DO645F ?5D54 6>E?<F4==<>>< 5>?LL>= E?5>FD 6>7<>6=>EF5= 4?O 

F6>DG5E>>= E4<>D54?<74F<<. �D>7D4<<4 E?>E>5EF6G5F >D74=<74F<< 
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>5D47>64F5?L=>7> ?D>EFD4=EF64, =4?D46?5==>7> =4 G4>6?5F6>D5=<5 

?>FD55=>EF5= D>4<F5?5= 6 EG4>65EF65==>-F5E=<G5E>>< D476<F<< D555=>4, 6 

D>D<<D>64=<< 57> F6>DG5E>>7> <OL?5=<O, ?D>EFD4=EF65==>7> 6>>5D465=<O, 
6>E?<F4=<< EG4>65EF65==>-MEF5F<G5E><E 4E?5>F>6 ?<G=>EF< D555=>4. 

� =4L5 6D5<O 5G<474 O6?O5FEO ?D>EFO< < >G5=L 4>EFG?=O<, => 

G4<6<F5?L=O< <4F5D<4?><. % >4=>= EF>D>=O, >= - F>=><= < EDG?><=, E 4DG7>= 

3 ??4EF<G=O= < ?D>G=O=. �5D6O5 G?><<=4=<O > 5G<475 >F=>EOFEO >> II 65>G 

4> =. M. (E565D=4O ?D>6<=F<O �<F4O). �D56=<5 O?>=E><5 ED>=<>< <�<E>=7<= 

GF65D644NF, GF> E5>D5F <77>F>6?5=<O 5G<47< 5O? 74657U= <7 �<F4O 6 /?>=<N 

6 610 7. =. M. �D<F<4?L=O< 65 ?D<7=4=<5< ?>O6?5=<O =>6>7> 4?O EFD4=O 

<4F5D<4?4 EG<F45FEO 4>>?44 G<=>6=<>4 &4= �G=O <<?5D4F>DG > 

EGM5EF6>64=<< F5E=>?>7<< 4?O <77>F>6?5=<O =>6>7> ?D5>D4E=>7> <4F5D<4?4 

4?O ?<EL<4. � VI 3 VII 6. =.M. 6 �<F45 G65 E>4<?< ?> DG>4< 5G<46=O5 45=L7< 

$5=-FO=L (?5F4NM<5 <>=5FO). �<F4=FO D56=>EF=> ED4=<?< E5>D5F 

?D><76>4EF64 5G<47<. �4=4>>, ?575=44 D4EE>47O645F, GF> 6 =4G4?5 VII 6. =.M. 
EFD4=EF6GNM<= 5G44<=E><= <>=4E �4= %>, >>F>DO= <5O? 5>74F 7=4=<O<< < 

G<5? 45?4FL 5G<47G < FGLL=, 4>5<D45FEO 4> /?>=<<, 745 < D4E>DO645F E6>= 

E5>D5F. %?GEFO EF>?5F<5 O?>=FO ?D><76>4OF 5G<47G G65 E4<< < <E?>?L7GNF 55 

=5 F>?L>> 4?O ?<EL<4, => < 4?O ?D><76>4EF64 L<D<, 7>=F<>>6, >>>= < 4465 

>4564O. 
�G<474 3 MF> >G5=L G4>5=O= <4F5D<4? 4?O 45FE><E DG>. �464>5 

46<65=<5 ?D< >E6>5=<< D47=>>5D47=OE F5E=<> 6 D45>F5 E 5G<47>= FD55G5F 

>?D545?5==OE 6>?56OE GE<?<=. �G<46=>5 <>45?<D>64=<5 445F 6>7<>6=>EFL 

D476<64FL 6>?56O5 >4G5EF64 < F6>DG5E><5 E?>E>5=>EF<, >>F>DO5 =5>5E>4<<O 

>464><G G5?>65>G 6 ?N5>= ?D>D5EE<<. �D><5 F>7>, D47?<G=O5 F5E=<>< ?> 

D45>F5 E 5G<47>= ?><>74NF D476<64FL <5?>GN <>F>D<>G DG> < G5D57 =55 

>F45?O 7>?>6=>7> <>774, GF> ?>?>6<F5?L=> E>47O645FEO 6 >E6>5=<< D555=>>< 

>5M5>5D47>64F5?L=OE ?D54<5F>6. 
�E>5>5 6=<<4=<5 6 ?D>7D4<<5 >F6>4<FEO ?D4>F<G5E>>= D45>F5, ?D< 

6O?>?=5=<< >>F>D>= >5GG4NM<5EO 7=4>><OFEO E D45>G<<< F5E=>?>7<G5E><<< 

>?5D4F<O<<, ?>DO4>>< <E 6O?>?=5=<O ?D< <77>F>6?5=<< <745?<=, GG4FEO 

?>45<D4FL =5>5E>4<<O5 6<4O 5G<47< < <=EFDG<5=F4D<=. �E?>?L7G5<O5, 6 

?D>F5EE5 D54?<74F<< ?D>7D4<<O, E>6D5<5==O5 ?5447>7<G5E><5 F5E=>?>7<<, 
F4><5 >4> GG55=>-<EE?54>64F5?LE>4O 45OF5?L=>EFL, <=F5??5>FG4?L=4O <7D4, 
F5E=>?>7<O >5D47>64F5?L=>7> E>5OF<O < <5F>4 ?D>5>F>6 E?>E>5EF6GNF 

D>D<<D>64=<N G >5GG4NM<EEO <=<F<4F<6=>EF<, 4>F<6=>EF<, 
74<=F5D5E>64==>EF< 6 D57G?LF4F4E 45OF5?L=>EF<. �?47>44DO F4><< 

F5E=>?>7<O< >5GG4NM<5EO GG4FEO >?D545?OFL F5?< < 7444G<, E>EF46?OFL ??4=, 
6O5<D4FL ED54EF64 < E?>E>5O 45OF5?L=>EF<, D4E?D545?OFL >5O74==>EF< 6 ?4D5 

< 6 7DG??5, >F5=<64FL D57G?LF4FO, >>DD5>F<D>64FL E6>N 45OF5?L=>EFL. �E5 MF> 

=5>5E>4<<> E>6D5<5==><G G5?>65>G, GF>5O >E>7=4FL E55O 74D<>=<G=> 

D476<F>= ?<G=>EFLN. 
 

1.1. �4?D46?5==>EFL 4>?>?=<F5?L=>= >5D47>64F5?L=>= 
?D>7D4<<O. �D54?4745<4O 4>?>?=<F5?L=4O >5D47>64F5?L=4O ?D>7D4<<4 
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<<55F F5E=<G5E>GN =4?D46?5==>EFL, >D<5=F<D>64=4 =4 D476<F<5 

F6>DG5E><E E?>E>5=>EF5= 45F5= 6 >5?4EF< ?D<>?44=>7> F6>DG5EF64 < 
E?>E>5EF6G5F 6>E?<F4=<N 74D<>=<G=>= ?<G=>EF<. 

 

1.2. �>FG4?L=>EFL ?D>7D4<<O OE=> 6<4<FEO 6 4>F<6<74F<< 

>>=EFDG>F<6=>-?D>EFD4=EF65==>7> <OL?5=<O < D4=F47<< D555=>4, GF>, 557 

E><=5=<O, >>47O645F ?>?>6<F5?L=>5 6?<O=<5 =4 E?>E>5=>EF< > 

<7>5D5F4F5?LEF6G < D476<F<N 57> F6>DG5E>>7> =4G4?4, E?>46<7=5F =4 ?><E> 

F6>DG5E><E ?GF5= D5L5=<O 7444G, 6>7=<>4NM<E ?5D54 =<<. 
�D>7D4<<4 «�G<46=4O ??4EF<>4» D476<64NM5 45=EF6G5F =4 <5?>GN 

<>F>D<>G ?4?LF56 DG>, 5?47>44DO G5<G, EF<<G?<DG5FEO D45>F4 >F45?>6 
7>?>6=>7> <>774.                �D><5 F>7>, =4?<G<5 5>?LL>7> G<E?4 =5D6=OE >>>=G4=<= =4 

?44>=OE < 6>745=EF6<5 =4 =<E ?D< D45>F5, >>47O645F >74>D46?<64NM<= 

MDD5>F =4 >D74=<7<, F.>. E 4D56=<E 6D5<5= <765EF=4, < E57>4=OL=<<< 

GG5=O<< ?>4F65D645=4, ?DO<4O 674<<>E6O7L =5D6=OE >>>=G4=<= E 

6=GFD5==<<<  >D74=4<< 6 >D74=<7<5 G5?>65>4 (EG46>>-F5D4?<O). 
� F><G 65 D4EL<D5=<5 7=4=<= 6 MF>= >5?4EF< (5G<46=>5 

<>45?<D>64=<5) 5G45F ?><>74FL 6 <4F5<4F<>5, 75><5FD<< (D>D<<DG5FEO 

?D>EFD4=EF65==>5 <OL?5=<5) < G5DG5=<<. �46O>< D45>FO E <=EFDG<5=F4<< < 

<4F5D<4?4<< 5G4GF ?>?57=O < 6 L>>?5 < 4><4. � ?D>F5EE5 74=OF<= 

6>E?<FO64NFEO: GE<4G<6>EFL, F5D?5?<6>EFL, G<5=<5 4>6>4<FL =4G4F>5 4> 

>>=5G=>7> D57G?LF4F4, D>D<<DGNFEO MEF5F<G5E><5 E?>E>5=>EF< < ?D>O6?ONFEO 

E>5EF65==O5 =5?>6F>D<<O5 G5DFO E4D4>F5D4. '<5=<5 E45?4FL GF>-F> 

<=F5D5E=>5 E6><<< DG>4<< ?D<6>4<F D55OF 6 =5>?<EG5<O= 6>EF>D7 < 

?>6OL45F <E E4<>>F5=>G, GF> =5<4?>646=>. 
�>6<7=4 ?D>7D4<<O 74>?NG5=4 6 <E?>?L7>64=<< D47?<G=OE F5E=<> < 

?D<5<>6 ?> D45>F5 E >4=<<, => <=>7>>5D47=O< <4F5D<4?>< 3 5G<47>=. 
�5EF4=44DF=> ED>D<G?<D>64==4O 7444G4, ?D< D45>F5 E E>D>L> 7=4>><>= 

5G<47>=, 4>F<6<7<DG5F F6>DG5E><5 7444F>< 45F5=, 5G4<F <E 6>>5D465=<5, 
?><>745F 6O=F< 74 D4<>< EG7G5> F5E=<G5E>>= D45>FO =4 GD>65=L 

M?5<5=F4D=>= F6>DG5E>>= 45OF5?L=>EF<. 

�5447>7<G5E>4O F5?5E>>5D47=>EFL 74>?NG45FEO 6 E>744=<< 

>5D47>64F5?L=>= ED54O 4?O 6OO6?5=<O < D476<F<O >5M<E < E?5F<4?L=OE 
E?>E>5=>EF5= GG4M<EEO ED54EF64<< 45>>D4F<6=>-?D<>?44=>7> F6>DG5EF64. 
�D54?>?4745<O5 6 ?D>7D4<<5 6<4O 45OF5?L=>EF<, O6?ONFEO 

F5?5E>>5D47=O<< 4?O 45F5= L>>?L=>7> 6>7D4EF4 F. >. E?>E>5EF6GNF: 
EF<<G?<D>64=<N ?>7=464F5?L=OE ?D>F5EE>6, D476<F<N ?<G=OE >4G5EF6, 
>><<G=<>4F<6=OE =46O>>6, E>744=<N E>F<>>G?LFGD=>= ED54O >5M5=<O, 
D476<F<N F6>DG5E><E E?>E>5=>EF5=, ?>445D64=<N EFD5<?5=<O > 

E4<>EF>OF5?L=>= 45OF5?L=>EF<, F6>DG5E>><G <E?>?L7>64=<N 6<7=5==>7> 

>?OF4 45F5=. 
�D>7D4<<4 444?F<D>64=4 4?O D54?<74F<< 6 GE?>6<OE 6D5<5==>7> 

>7D4=<G5=<O 74=OF<= 6 >G=>= (>>=F4>F=>=) D>D<5 < 6>?NG45F 6E5 

=5>5E>4<<O5 <=EFDG<5=FO M?5>FD>==>7> >5GG5=<O (>=?4== D>D<O 

>D74=<74F<< >5D47>64F5?L=>7> ?D>F5EE4). 
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1.3. �F?<G<F5?L=O5 >E>55==>EF< ?D>7D4<<O 

�F?<G<F5?L=>= >E>55==>EFLN ?D>7D4<<O O6?O5FEO 55 64D<4F<6=>EFL < 

<>5<?L=>EFL >F ?D>EF>7> > E?>6=><G 6 ?N5>= <7 F5< (6 746<E<<>EF< >F GD>6=O 

>5GG45<OE), 6 55 F5D4?56F<G5E>>< 6>745=EF6<<. 
�=>7>>5D47<5 6<4>6 5G<47< (D>?L74, >4?L>4, >4DF>=, 7475F=4O, 

G?4>>6>G=4O, >5><, ?<EG4O < F.4.) ?>76>?O5F <E?>?L7>64FL 5U 6 D47=OE 6<44E 

45OF5?L=>EF<. �>546?5=<5 4DG7<E 65M5EF6 6 E>EF46 5G<47< D4EL<D<?> >5?4EFL 

5U ?D<<5=5=<O (>F <E?>?L7>64=<O 6 4><4L=5< G5D4=EF65 4> F54FD4?L=OE 

45>>D4F<=). 
�D>7D4<<4 6>?NG45F 6 E55O 7=4>><EF6> E F5E=>?>7<5= <77>F>6?5=<O 

5G<47<, D47?<G=O5 F5E=<>< < ?D<5<O EG4>65EF65==>= D45>FO E =5=, 
E<EF5<4F<7<DG5F E6545=<O > 5G<475 6 EFD>==GN EFDG>FGDG 6 E>7=4=<< D555=>4, 
>F>DO645F ?5D54 6>E?<F4==<>>< 5>?LL>= E?5>FD 6>7<>6=>EF5= 4?O 

F6>DG5E>>= E4<>D54?<74F<<. �D>7D4<<4 E?>E>5EF6G5F >D74=<74F<< 

>5D47>64F5?L=>7> ?D>EFD4=EF64, =4?D46?5==>7> =4 G4>6?5F6>D5=<5 

?>FD55=>EF5= D>4<F5?5= 6 EG4>65EF65==>-F5E=<G5E>>< D476<F<< D555=>4, 6 

D>D<<D>64=<< 57> F6>DG5E>>7> <OL?5=<O, ?D>EFD4=EF65==>7> 6>>5D465=<O, 
6>E?<F4=<< EG4>65EF65==>-MEF5F<G5E><E 4E?5>F>6 ?<G=>EF< D555=>4. 

�???<>4F<O <7 75><5FD<G5E><E D<7GD >G5=L  G4>5=4O 

F5E=<>4, >E>55==> 4?O 6>E?<F4==<>>6, G >>F>DOE =5F 5M5 =46O>>6 ?> 
6OD574=<N. �7 =4D574==OE 75><5FD<G5E><E D<7GD <>6=> E>74464FL 
4???<>4F<< 6 <>74<G=>= F5E=<>5. �?O MF>= D45>FO ?>4>=4GF ?N5OE D47<5D>6 
F65F=O5 D<7GDO. �>74<G=4O F5E=<>4 E>D>L4 4?O ?>?GG5=<O ?5D6<G=OE 
=46O>>6 ?D< D45>F5 E 5G<47>= < =>6=<F4<<. 

�D<74<<   3 O?>=E>>5 <E>GEEF6>   E>?44O64=<O <7 5G<47< 

D4E?D>EFD4=<?>EL 44?5>> 74 ?D545?4<< /?>=<<. �D<74<< <E?>?L7G5FEO 6 

=4EF>OM55 6D5<O =5 F>?L>> 4?O D476?5G5=<O <?< >F4OE4, => < 4?O 

>5D47>64=<O: 6 L>>?4E < <=EF<FGF4E, 6 D545<?<F4F<>==OE F5=FD4E (M?5<5=FO 

<7>?D>EFD4=EF65==>7> E>?44O64=<O ?D<<5=ONFEO 6 >>E<<G5E><E 

F5E=>?>7<OE, ?D< D47D45>F>5 < E>744=<< <=65=5D=OE 4DE<F5>FGD=OE 

E>>DG65=<=). 
�>4G?L=>5 >D<74<< (<?< 3D Origami) 4 E>744=<5 >5NU<=OE D<7GD <7 

FD5G7>?L=OE <>4G?5= >D<74<<, ?D<4G<4==OE 6 �<F45. &5?4O D<7GD4 

E>5<D45FEO <7 <=>65EF64 >4<=4>>6OE G4EF5= (<>4G?5=). �464O= <>4G?L 

E>?44O645FEO ?> ?D46<?4< >?4EE<G5E>>7> >D<74<< <7 >4=>7> ?<EF4 5G<47<, 4 

74F5< <>4G?< E>54<=ONFEO ?GF5< 6>?44O64=<O <E 4DG7 6 4DG74. �=>744 4?O 
?D>G=>EF< 4>546?ONF >?5=. �>O6?ONM4OEO ?D< MF>< E<?4 FD5=<O =5 44UF 

>>=EFDG>F<< D4E?4EFLEO. 
�77>F>6?5=<5 >5LU<=OE D<7GD < <>45?5=. �N5>= =4G<=4NM<= 

<>45?<EF 4>?65= 7=4FL >E=>6O D45>FO E 5G<47>=. �F MF<E M?5<5=F4D=OE 

7=4=<= 746<E<F >4G5EF6> E>744645<OE 5G<46=OE <>45?5=. �4> < ?N54O 

E>D>L4O ?D<6OG>4, 47O <>45?<D>64=<O =G6=> 4>65EF< 4> 46F><4F<7<4 6 

E>7=4=<< D55U=>4. �4==O= 6<4 45OF5?L=>EF< =5 F>?L>> E?>E>5EF6G5F 

F6>DG5E>><G D476<F<N, => < D476<645F 6 D55U=>5 GE<4G<6>EFL, 4>>GD4F=>EFL, 

https://stranamasterov.ru/technic/origami_module
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<>F>D<>G DG>. 
&5E=<>4 >6<?<=74 <?< 5G<46=>= D<?<7D4=< ?D54EF46?O5F E>5>= 

G7>DO <7 5G<46=OE ?5=F. '7><5 ?>?>E>< 5G<47< E>DGG<64NF, ?4?LF4<< 

?D<44NF =G6=GN D>D<G < E>?5<64NF 6 >><?>7<F<N. &5E=<>4 5G<46=>= 

D<?<7D4=< EGM5EF6G5F ?D<<5D=> ?OFLE>F ?5F. � MF>= F5E=<>5 <>6=> 

6O?>?=OFL >F>DOF><, <7DGL>< (?>465E=O5), >4DF<=O < F. 4. 
&5E=<>4 6OD574=<O E<?GMF>6 < G7>D>6, =5 E<>FDO =4 E?>6=>EFL 

<E?>?=5=<O, G6?5>4F5?L=4 < <=F5D5E=4 45FO<. �OD574=<5 E=56<=>> 3 =4<5>?55 

<765EF=4O D>D<4 D45>FO E G7>D>< 6 MF>= F5E=<>5. %<?GMF=>5 6OD574=<5 

>E64<645FEO E <77>F>6?5=<O D>=4D<>>6 6<FD465= <?< >4DF<= - 6<FD465=. 
 

1.4. �4D5E4F ?D>7D4<<O. 
�D<=<<4NFEO 45F< 6 6>7D4EF5 >F 7 4> 15 ?5F 557 E?5F<4?L=OE 7=4=<= < 

FD55>64=<= > ?D5464D<F5?L=>= ?>47>F>6>5, <<5NM<5 <=F5D5E > 
F5E=<G5E>><G F6>DG5EF6G (D<E>64=<5, <>45?<D>64=<5, 4<74==, < 4D.). �4?<EL 
=4 >5GG5=<5 ?D><76>4<FEO 557 E?5F<4?L=>7> >F5>D4 ?> 65?4=<N D>4<F5?5= < 

45F5=. � E6O7< E MF<< 7DG??O >><??5>FGNFEO E GG5F>< <=F5D5E>6 < EF5?5=< 

?>47>F>6?5==>EF< 45F5=, 6>7<>65= D47=>6>7D4EF=O=. 

 

1.5. 'D>65=L ?D>7D4<<O 3 EF4DF>6O= (>7=4>><<F5?L=O=). 
%D>> D54?<74F<< 3 1 7>4 (144 G.) �>?<G5EF6> G4E>6 6 =545?N 3 4 G4E4. 
�4=OF<O ?D>6>4OFEO 2 D474 6 =545?N ?> 2 G4E4. 
 

1.6. &5?< < 7444G< ?D>7D4<<O 

&5?L >5GG5=<O: ?D<>5M5=<5 GG4M<EEO > 45>>D4F<6=>-?D<>?44=><G 

F6>DG5EF6G ?>ED54EF6>< >E6>5=<O F5E=<>< 5G<46=>= ??4EF<><. 
�444G<: 
�5D47>64F5?L=O5: 

- ?>7=4>><<FL 45F5= E <EF>D<5= ?>O6?5=<O 5G<47<. 
- ?>7=4>><<FL 6>E?<F4==<>>6 E 6<44<<, D47?<G=O<<    E6>=EF64<< 

5G<47< < F5E=>?>7<5= 5U <77>F>6?5=<O. 
- E?>E>5EF6>64FL >6?445=<N 45FL<< E?5F<4?L=>=         F5D<<=>?>7<5=. 
- =4GG<FL 45F5= D45>F4FL E <=EFDG<5=F4<< ?> >5M5?D<=OFO< 

?D46<?4< E GG5F>< F5E=<>< 557>?4E=>EF<. 
$476<64NM<5: 

 - D476<F<5 F4><E >4G5EF6, >4> E4<>EF>OF5?L=>EFL, GE<4G<6>EFL, 
4>>GD4F=>EFL. $476<F<5 6=<<4=<O, ?4<OF<, <OL?5=<O, 6>>5D465=<O. 

�>E?<F4F5?L=O5: 
- 6>E?<F4FL FDG4>?N5<5, 674<<>?><>M< ?D< 6O?>?=5=<< D45>FO. 
 

1.7. �5N5< < ED>>< D54?<74F<< 4>?>?=<F5?L=>=   
>5M5>5D47>64F5?L=>= ?D>7D4<<O D4EEG<F4=O =4 >4<= GG55=O= 7>4 144G., 36 
GG55=OE =545?L. 
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1.8. $>D<4 >5GG5=<O 3 >G=4O. $4E?<E4=<5 E>EF46?5=> 6 E>>F65FEF6<< 
E %4=<F4D=O<< =>D<4<< < ?D46<?4<< %4=�<� 2.4.4.1251033172-14 «� 
66545=<< 6 45=EF6<5 E4=<F4D=>3M?<45<<>?>7<G5E><E =>D<4F<6>6». $>D<4 
>D74=<74F<< D45>FO - 7DG??>64O, <E?>?L7G5FEO 4<DD5D5=F<D>64==>- 

<=4<6<4G4?L=O= ?>4E>4 6 ?D4>F<G5E>>= 45OF5?L=>EF< (D45>F4 6 ?4D4E; 
D45>F4 6 <4?OE 7DG??4E). %>EF46 7DG??O ?>EF>O==O=. �64 D474 6 =545?N, ?> 
464 G4E4, (144 G4E. 6 GG55=O= 7>4). 
 

1.9. �E>55==>EF< >D74=<74F<< >5D47>64F5?L=>7> ?D>F5EE4.                    
�=F5??5>FG4?L=O5 6>7<>6=>EF< GG4M<EEO 7 ?5F 6> <=>7>< >F?<G4NFEO >F 
45F5= 15 ?5F. �5447>7<G5E><= ?>4E>4 GG<FO645F 64D<4F<6=O5 6>7<>6=>EF< 
?D>7D4<<O, F.>. =5>5E>4<<> 444?F<D>64FL E?>6=O= <4F5D<4? > 44==><G 
(<?44L5<G L>>?L=><G) 6>7D4EFG. �DG??4 D>D<<DG5FEO <7 GG4M<EEO >4=>7>, 
<?< D47=OE 6>7D4EF>6, GG<FO64O <?44L<= < ED54=<= E>EF46.  

�4 74=OF<OE ?D<<5=O5FEO F5E=>?>7<O ?<G=>EF=>->D<5=F<D>64==>7> 
>5GG5=<O E F5?LN D4E>DOF<O 6>7<>6=>EF5= >464>7>, 4?O >D74=<74F<< 6 
44?L=5=L5< E>6<5EF=>= ?>7=464F5?L=>=, F6>DG5E>>= 45OF5?L=>EF< (E>744=<5 
>>??5>F<6=>= D45>FO). � ?D>F5EE5 74=OF<= <45F D45>F4 =44 D476<F<5< 
<=F5??5>F4, <5?>>= <>F>D<><, F6>DG5E><E 7444F>>6, ?>7<G5E>>7> < 
?D>EFD4=EF65==>7> 6>>5D465=<O, <OL?5=<O. �=4=<5 <=4<6<4G4?L=OE 
>E>55==>EF5= GG4M<EEO ?>76>?O5F MDD5>F<6=> <E?>?L7>64FL EF<<G?<DGNM55 
6?<O=<5 >>??5>F<64 =4 GG55=GN 45OF5?L=>EFL >464>7> D555=>4. 
�5>E?>D<<O< ?D5<<GM5EF6>< 74=OF<O, O6?O5FEO 6>7<>6=>EFL E>54<=5=<O 
DD>=F4?L=OE < 7DG??>6OE D>D< >5GG5=<O (<4EF5D->?4EE, F5<4F<G5E>4O 
<4EF5DE>4O, 6 F>< G<E?5 D45>F4 =44 EF5=4D<5<, 74M<F5 ?D>5>F>6). �D< 
>D74=<74F<< >5D47>64F5?L=>7> ?D>F5EE4 L<D>>> <E?>?L7GNFEO 
D47=>>5D47=O5 FD44<F<>==O5 < =5 FD44<F<>==O5 D>D<O ?D>6545=<O 
74=OF<=: ?D4>F<G5E>>5 74=OF<5, 74=OF<5->>=EG?LF4F<O, 74=OF<5-?D575=F4F<O, 
6<DFG4?L=>5 ?GF5L5EF6<5, 6OEF46><, >>=>GDEO. 

 �D<<5=5=<5 <5F>4>6 D5?D>4G>F<6=>= 45OF5?L=>EF< =4 ?D4>F<G5E><E 
74=OF<OE ?>76>?O5F EGM5EF65==> ?>6OE<FL <>F<64F<N GG4M<EEO, 
>D74=<7>64FL <E F6>DG5E>GN < <EE?54>64F5?LE>GN D45>FG, D476<64FL 
F6>DG5E><5 E?>E>5=>EF<, <4F5<4F<G5E>>5 < ?>7<G5E>>5 <OL?5=<5. 
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1.10. 'G55=O= ??4= 

 

1.11. %>45D64=<5 GG55=>7> ??4=4  
1. �6545=<5 (2 G.) �EF>D<O 5G<47<. �<4O 5G<47<. �=4>><EF6> E 

<=EFDG<5=F4<< < <4F5D<4?4<<. (�D<?>65=<5 1) 
�5E544 ?> F5E=<>5 557>?4E=>EF<. �=EFDG>F46 ?> >ED4=5 FDG44. 

�D46<?4 ?>?L7>64=<O <=EFDG<5=F4<< < ?D<E?>E>5?5=<O<<. �D46<?4 
?>6545=<O =4 74=OF<<. 

�<47=>EF<>4. � =4G4?5 7>44 (1 7>4 >5GG5=<O) - 4<47=>EF<>4 GD>6=O 
�'� >5GG4NM<EEO, ?D>65D>4 <E 7>F>6=>EF< > 74=OF<O< 6 >5N54<=5=<<. � 
E5D54<=5 < >>=F5 GG55=>7> 7>44 ?D>6>4<FEO 4<47=>EF<>4 GE6>5=<O 

 

7 

?/
? 

 

 

�4<<5=>64=<5 
D4745?>6, 
5?>>>6, F5< 

�>?<G5EF6> G4E>6 GG55=OE 74=OF<= 

 

$
>D

<O
 

GG
55

=O
E 

4F
F5

EF
4F

<=
 

>>
=F

D>
?O

 

�E57
> G4E>6 

&5>D5F<G5E><5 �D4>F<G5E>
<5 

 

 

1 

 

�6545=<5. 
�<47=>EF<>4 7=4=<= 
< G<5=<= 

>5GG4NM<EEO. 
�EF>D<O >D<74<< 

 

 

2 

 

 

2 

 

 

_ 

 

 

'EF=O= >?D>E 

 

 

2 

 

 

�???<>4F<O 

 

 

34 

 

 

2 

 

 

32 

�45?N45=<5, 
E4<>>F5=>4 

D45>F, 
>E<>FD 

<745?<= 

 

 

3 

 

 

�=4>><EF6> E >D<74<< 

 

 

30 

 

 

2 

 

 

28 

�45?N45=<
5 

E4<>>F5=>4 

D45>F, 
>E<>FD 

<745?<= 

 

4 

 

�>4G?L=>5 >D<74<< 

 

76 

 

6 

 

70 

�45?N45=<
5 

E4<>>F5=>4 

D45>F, 
>E<>FD 

<745?<= 

 

5 

 

�F>7>6>5 74=OF<5 

 

2 

 

2 

 

_- 

 

�>??5>F<6=
4O 

6OEF46>4 

 �F>7>: 144 14 130  
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>5GG4NM<<<EO �'�, ?>?GG5==OE 74 6D5<O >5GG5=<O 6 >5N54<=5=<<. 

2. �???<>4F<O (34 G.). �???<>4F<O ?> >5D47FG < E>EF46?5=<5 
E>5EF65==OE >><?>7<F<=. 

�D4>F<>4: E?>E>5O D47<5F>< 5G<47< (L45?>=, FD4D4D5F, E7<54=<5, 
?<=5=>4), 6OD574=<5 ?> >>=FGDG, E?>E>5O E>54<=5=<O 45F4?5=. �?>E>4O 
4???<>4F<O, 4???<>4F<O <7 75><5FD<G5E><E D<7GD. 

    �???<>4F<O <7 ?D>EF5=L<E 75><5FD<G5E><E D<7GD: FD5G7>?L=<>, 
>644D4F, ?DO<>G7>?L=<>, >DG7, >64?. 

�D4>F<>4: 6OD574=<5 < 6ODO64=<5 D<7GD <7 5G<47<. %>EF46?5=<5 
<>74<><. 

�???<>4F<O <7 E4?D5F>> (10 G.). &>DF564=<5 - F5E=<>4 D45>FO E 
>D5?>6>= (7>DD<D>64==>=) 5G<47>=. &>DF564=<5 - <>74<>4 <7 FDG5>G5> - 

F>DF>6>G5> 6O?>?=O5FEO =4 5G<475 < ??4EF<?<=5. � MF>= F5E=<>5 45FL<< 
6O?>?=ONFEO <=F5D5E=O5 ?>45?><-<7DGL><, F65FO < GG45E=O5 >>6DO- 

>4DF<=O D47<5D>< E 64F<4=E><= ?<EF 6O7O64NF 6>EE<M5=<5 < G4<6?5=<5 G 
6E5E, >F> <E 6<4<F. 

�465FEO =565D>OF=O<, GF> F4><5 E?>6=O5 D45>FO 6O?>?=ONFEO >G5=L 

?57>>. 
�D4>F<>4: F5E=>?>7<O ?>47>F>6>< E4?D5F>> > D45>F5. �O5>D >E=>6O 

4?O 4???<>4F<<. 
�???<>4F<O ?> 7>F>6O< L45?>=4< (14 G.). �5D56>4 L45?>=>6 =4 

F65F=GN 5G<47G < >4DF>=. %>EF46?5=<5 >><?>7<F<=, >F>DOF>>, ?4==>. 
�5N5<=4O 4???<>4F<O (8 G.). %>EF46?5=<5 >><?>7<F<= <7 <>45?5= 

>D<74<< =4 >E=>65 547>6OE D>D<. �F>DOF>< > ?D474=<>4<. &65FO <7 5G<47<. 
%>EF46?5=<5 5G>5F>6 < F65F>G=OE >><?>7<F<=. �77>F>6?5=<5 D4<>< <7 
G5DF56=>= 5G<47< 4?O >D>D<?5=<O <745?<=. �D4>F<>4: E?>E>5O < ?D<U<O 
D45>FO 6 F5E=<>5 5G<47>??4EF<>4; 6O5>D EN65F4, E>EF46?5=<5 ME><7>6, 
<77>F>6?5=<5 >5NU<=OE 45F4?5=, >D>D<?5=<5 7>F>6OE D45>F 6 D4<>G. 

3. �=4>><EF6> E >D<74<< (30 G.). &5D<<=O, ?D<=OFO5 6 >D<74<<. 
�D<5<O E>?44O64=<O. 'E?>6=O5 >5>7=4G5=<O, ?D<=OFO5 6 >D<74<<. 
�77>F>6?5=<5 >644D4F4 <7 ?DO<>G7>?L=>7> ?<EF4 5G<47<. �>=OF<5 «547>6>= 
D>D<O». �7GG5=<5 6<4>6 547>6OE D>D<, E>?44O64=<5 <745?<= =4 <E >E=>65. 
�<4O E>?44>>. $45>F4 E <=EFDG>F<>==O<< >4DF4<<, 45<>=EFD<DGNM<<< 
?D>F5EE E>?44O64=<O. ( �D<?>65=<5 2) 

�47>6O5 D>D<O: 
«&D5G7>?L=<>» (8 G4E>6) 

«�65DL» (2 G4E4) 
«�>=65DF» (2 G4E4) 
«�6>==>= FD5G7>?L=<>» (2 G4E>6) 
«�>74GL=O= 7<5=» (4 G4E4) 
«�6>==>= >644D4F» (4 G4E4) 
«$O54» (8 G4E4) 
«�4F4<4D4=» (2 G4E4) 

«�><» (2G4E4) �77>F>6?5=<5 D<7GD (18 G.). 
�77>F>6?5=<5 ??>E><E < >5N5<=OE <745?<= <7 5G<47<, 5G<47<. 
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�D>D<?5=<5 7>F>6>7> <745?<O. 
�D4>F<>4: 547>6O5 D>D<O >D<74<<, >D<74<=O5 >><?>7<F<<, >5NU<=>5 

>D<74<<. 
4. �>4G?L=>5 >D<74<< (76 G.). �77>F>6?5=<5 <>4G?5= 3 6<4>6. 

&5E=>?>7<O E>54<=5=<O <>4G?5=. %5>D>4 <745?<= < E>EF46?5=<5 >><?>7<F<=. 
�><5<=<D>64=<5 <>4G?5=. �>??5>F<6=O5 < <=4<6<4G4?L=O5 D45>FO. 
$45>F4 E <>4G?O<< D47=OE D47<5D>6. �77>F>6?5=<5 <745?<= ?> E>5EF65==O< 
?D>5>F4<. 

�>4G?L «&D<?<EF=<>» (4 G4E4). �>4G?L «%G?5DL4D» (8 G4E>6). 
�>4G?L «&D5G7>?L=<>» (58 G4E>6). 

�D4>F<>4: �77>F>6?5=<5 <>4G?5= 3 6<4>6. &5E=>?>7<O E>54<=5=<O 
<>4G?5=. %5>D>4 <745?<= < E>EF46?5=<5 >><?>7<F<=. �><5<=<D>D64=<5 

<>4G?5=. �>??5>F<6=O5 < <=4<6<4G4?L=O5 D45>FO. $45>F4 E <>4G?O<< 
D47=OE D47<5D>6. �77>F>6?5=<5 <745?<= ?> E>5EF65==O< ?D>5>F4<. 

�F>7>6>5 74=OF<5 (2 G.). �5E544 =4 F5<G «�D<74<< 6 =4L5= 6<7=<», 
>D>D<?5=<5 6OEF46>< D45>F >5GG4NM<EEO, E>EF46?5=<5 4?L5><4 ?GGL<E 
D45>F, 74M<F4 F6>DG5E><E ?D>5>F>6. 

 

1.12.  �?4=<DG5<O5 D57G?LF4FO >E6>5=<O ?D>7D4<<O 

� >>=FG >5GG5=<O 6>E?<F4==<> ED54=57> GD>6=O >E6>5=<O GG55=>= 
?D>7D4<<O E?>E>55= ?D>45<>=EFD<D>64FL: 

�>7=464F5?L=O5: 
�=45F >E=>6=O5 65E< <7 <EF>D<< 5G<47<. 
�=4>>< E F5E=>?>7<5= <77>F>6?5=<O 5G<47<, <>65F ?5D5G<E?<FL 

?D54<5FO, >F=>EOM<5EO > 5G<46=>= ?D>4G>F<<. �=45F 6<4O < E6>=EF64 
5G<47<. 

�E>7=4==> <E?>?L7G5F E?5F<4?L=GN F5D<<=>?>7<N 6 >5D47>64F5?L=>< 

?D>F5EE5. 
%>5?N445F ?D46<?4 F5E=<>< 557>?4E=>EF< < 7D4<>F=> >5D4M45FEO E 

<=EFDG<5=F4<<. 
$476<64NM<5: 
�GGL5 6?4455F ?4?LF4<< DG> ?D< 6O?>?=5=<< >?5D4F<= E>?44O64=<O 

< 6OD574=<O 5G<47<, G65?<G<?4EL E<?4 =46<<4 ?D< E7<54=<< ??>F=OE 6<4>6 

5G<47<. 
�?47><5D D555=>4 ?>76>?O5F E>>F=>E<FL D47<5D 45F4?5= D<7GD, F>G=> 

45?<FL ?<EF < 45F4?< <745?<O =4 =5>5E>4<<O5 G4EF<. 
�5N5<=>-?D>EFD4=EF65==>5 6<45=<5 ?>76>?O5F F>G=> E>>F=>E<FL 

?4D4<5FDO <745?<O ?D< <77>F>6?5=<< >5N5<=OE D<7GD. 
�<G=>EF=O5: 
�>E?<F4==<> ?D>O6?O5F >E=>6O >G?LFGDO DGG=>7> FDG44: 7465DL45F 

=4G4FGN D45>FG, M>>=><=> D4EE>4G5F <4F5D<4?O, E>45D6<F 6 ?>DO4>5 D45>G55 

<5EF>. 
%F4D45FEO G7=464FL =>6>5 > >G?LFGD5 4DG7<E =4D>4>6. 
� >5M5=<< E ?5447>7>< < GG4M<<<EO ?D>O6?O5F F5D?5=<5, G6465=<5, 

?>=<<4=<5. 
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$4745? 2. «�><??5>E >D74=<74F<>==>-?5447>7<G5E><E GE?>6<=, 
6>?NG4NM<= D>D<O 4FF5EF4F<<» 

 

2.1. �������$�/� ''���/� �$�$�� 

 

?/? 

 

�4F4 

 

&5<4 74=OF<O 

�>
?- 

6> 

G4E
> 6 

�D5<O 

?D>6545
=< O 

74=OF<O 

 

$>D<4 

74=OF<O 

�5EF> 

?D>6545=< 

O 

$>D<4 

>>=FD>
? O 

1. �6>4=>5 74=OF<5 (4G.) 
 

1 

 �6545=<5. &� ?D< 

6O?>?=5=<< D47?<G=OE 

6<4>6 D45>F. �7D4 «�G45< 

4DG6<FL» 

 

2 

  

�5>F<O
, <7D4 

 

�45<=5F 
7 

�4G4?L=4
O L>>?4 

���'%�
, 

7 

 

>?D>E 

 

2 

 �<47=>EF<>4 7=4=<= < 

G<5=<= >5GG4NM<EEO. 
�EF>D<O >D<74<< 
�D<?.73 

 

2 

  

�<E>GEE<
O, ?5>F<O 

 

�?D>E 

2. �???<>4F<O (34 G.) 

3 
 �7 75><5FD<G5E><E 

D<7GD:�D>>>4<? 
2 

  

 

 

 

 

 

 

 

�5>F<O, 
E4<>EF>O
F 5?L=4O 

D45>F4 

 

 

 

 

 

 

 

 

�45<=5F 
7 

�4G4?L=4
O L>>?4 

���'%�
, 

7 

 

 

 

 

 

 

 

�45?N4
5 =<5, 

E4<>>F5
= >4 

D45>F, 
>E<>FD 

<745?<= 

4  �474 E D><4L>4<< 2  

5  �?>G= 6 F<D>5 2  

6  %>64 2  

7  $O5>4 2  
8  �OL>4 2  

9  �>D>EU=>> 2  

10  �5N5<=4O: �?5?LE<= 2  

11  �45>G>4 2  
12  �47=<F =4 E>?>4<?L=<> 2  

13  �F>DOF>4 E FN?L?4=>< 2  

 

14 

 �7 E4?D5F>>(F>DF564=<5): 
&65F>> 4?O 545GL>< 
(>F>DOF>4) 

 

2 

 

15  �5D56> (EG65=<D) 2  

16  �<4F<=F 2  

 

17 

 �N5<<O= >D4=(>4DF<=>4). 
�4D<E>6>4, ?>47>F>6>4 < 
F>DF564=<5 

 

2 

 

18 
 �N5<<O= >D4=. 

&>DF564=<5 
2 

 

19  &65FO <7 EF<>5D>6(�4==>) 
 
 
 

2  

2. �=4>><EF6> E >D<74<< (30 G.) 
 

20 

 �EF>D<O >D<74<<. $>D<4 

FD5G7>?L=<>.%>?44O64=<5 
EF4>4=G<>4 < DGD46>< 

 

2 
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 %>?44O64=<5 ?F<F: 
E<=<F4 < E=57<DL. 
%>EF46?5=<5 >><?>7<F<< 

 

2 

  

�5>F<O, 
E4<>EF>O
F 5?L=4O 

D45>F4 

 

�45<=5F 
7 

�4G4?L=4
O L>>?4 

���'%�
, 

7 

 

 

�45?N4
5 =<5, 

E4<>>F5
= >4 

D45>F, 

 

22 

 �77>F>6?5=<5 OEFO < 
?4D>E>44. %>EF46?5=<5 

>><?>7<F<< 

 

2 

 

 

23 

 $>D<4-465DL. �>D>EU=>> 

< 5GDU=>4. %>EF46?5=<5 

>><?>7<F<< 

 

2 

  

 

 

 

 

 

 

 

 

 

 

�5>F<O, 
E4<>EF>O
F 5?L=4O 

D45>F4 

 

 

 

 

 

 

 

 

 

 

�45<=5F 
7 

�4G4?L=4
O L>>?4 

���'%�
, 

7 

>E<>FD 

<745?<= 

 

 

 

 

 

 

 

 

 

�45?N4
5 =<5, 
E4<>>F5
= >4 
D45>F, 
>E<>FD 

<745?<= 

24 
 %>?44O64=<5 7>?G5O. 

%>EF46?5=<5 >><?>7<F<< 
2 

 

 

25 

 $>D<4->>=65DF. $O5>4- 
545>G>4, 6>4>D>E?< < 
>4<5L>< 

 

2 

 

26 
 $>D<4 346>==>= 

FD5G7>?L=<>. �<?<O. 2 
 

27  $>D<4-6>74GL=O= 7<5=. 2  

 

28 

 �GD>G>4 < ?5FGL>>. 
�><?>7<F<O «�><<> 6 

45D56=5» 

 

2 

 

29 
 $>D<4-46>==>= >644D4F. 

�>?>F4O DO5>4, >D45 
2 

 

30 
 �454. �><?>7<F<O 

«�EFD>6>> 6 ?DG4G» 
2 

 

31 
 $>D<4-DO54. &4D56=4- 

?5554L 
2 

 

32 
 �><?>7<F<O «�4>4F =44 

?5554<=O< >75D><» 
2 

 

33 
 �<=76<=, E>?44O64=<5 

46G<O E?>E>54<<. 2 
 

34 
 �77>F>6?5=<5 >><?>7<F<< 

«?<=76<= =4 ?L4G» 
2 

 

4. �>4G?L=>5 >D<74<< (76G.) 
 

35 

 �>4G?L «&D<?<EF=<>». 
&5E=<>4 E>?44O64=<O 

<>4G?5=. �>4E=56=<>. 

 

2 

  

 

 

 

 

 

 

 

 

�5>F<O, 
E4<>EF>O
F 5?L=4O 

D45>F4 

 

 

 

 

 

 

 

 

 

�45<=5F 
7 

�4G4?L=4
O L>>?4 

���'%�
, 

7 

 

 

 

 

 

 

 

 

 

�45?N4
5 =<5, 
E4<>>F5
= >4 
D45>F, 
>E<>FD 

<745?<= 

36 
 �>4E=56=<>. %5>D>4 

F65F>4 
2 

 

 

37 

 &5E=<>4 <77>F>6?5=<O 

<>4G?O «EG?5DL4D». 
�G>?4 �L5D>. 

 

2 

 

38 
 %5>D>4 <>4G?5=. 

�D>D<?5=<5 >G>?O. 2 
 

39 
 �77>F>6?5=<5 <>4G?5= 

4?O �4?L6<=O 
2 

 

40 
 %5>D>4 <>4G?5= < 

>D>D<?5=<5 ?<F4. 2 
 

 

41 

 &5E=>?>7<O E>?44O64=<O 

<>4G?O «&D5G7>?L=<>». 
�77>F>6?5=<5 <>4G?5= 

 

2 
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42  �<=76<=G<>. %5>D>4. 2  

43 
 �<=76<=G<>. %5>D>4 < 

>D>D<?5=<5 
2 

 

44 
 �77>F>6?5=<5 <>4G?5= 

4?O ?F<FO �5554L 
2 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

�5>F<O, 
E4<>EF>O
F 5?L=4O 

D45>F4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

�45<=5F 
7 

�4G4?L=4
O L>>?4 

���'%�
, 

7 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

�45?N4
5 =<5, 
E4<>>F5
= >4 
D45>F, 
>E<>FD 

<745?<= 

45 
 %>?44O64=<5 <>4G?5= 

(350 LF.) 2 
 

46 
 �4G4?> E5>D><, 

>E=>64=<5 
2 

 

47  %5>D>4 >DO?L56 2  

48  %5>D>4 L5< < 7>?>6O 2  

49 
 �474 4?O F65F>6. 

�77>F>6?5=<5 <>4G?5= 
2 

 

50  �47>F>6>< <>4G?5= 2  

51 
 %5>D>4 647O. 

�77>F>6?5=<5 <>4G?5= 
2 

 

52 
 �465DL5=<5 D45>FO. 

�D>D<?5=<5 
2 

 

53 
 $><4L><. �77>F>6?5=<5 

<>4G?5= 
2 

 

54 
 �77>F>6?5=<5 <>4G?5=. 

%5>D>4 < <745?<5 
2 

 

55 
 /=F> ?4EE4?L=>5 =4 

?>4EF46>5 
2 

 

56  �77>F>6?5=<5 <>4G?5= 2  

57 
 %5>D>4 ?4EE4?L=>7> O=F4 

< ?>4EF46>< 
2 

 

58 
 �4=>4. �77>F>6?5=<5 

<>4G?5= 
2 

 

59 
 �77>F>6?5=<5 <>4G?5=. 

%5>D>4 
2 

 

60 
 �77>F>6?5=<5 <>4G?5=. 

%5>D>4 
2 

 

61 
 �77>F>6?5=<5 <>4G?5=. 

%5>D>4, >D>D<?5=<5 
2 

 

62 
 �45>G>4. �77>F>6?5=<5 

<>4G?5= 
2 

 

63  �77>F>6?5=<5 <>4G?5= 2  

 

64 
 �77>F>6?5=<5 <>4G?5= < 

E5>D>4. �D>D<?5=<5 6 

D4<>G 

 

2 
 

65 
 �<=76<=U=>>-<>DOG>>. 

�77>F>6?5=<5 <>4G?5= 
2 
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66 
 �77>F>6?5=<5 <>4G?5=. 

%5>D>4 <745?<O <7 

<>4G?O 

 

2 
    

67 
 �4=>4. �77>F>6?5=<5 

<>4G?5= 
2 

 

68  �77>F>6?5=<5 <>4G?5= 2  

69  %5>D>4 FG?>6<M4 2  

70  %5>D>4 7>?>6O 2  

71  �D>D<?5=<5 �4=>< 2  

5. �F>7>6>5 74=OF<5 (2 G.) 
 

72 

 
 

�F>7>6>5 74=OF<5. 
�OEF46>4 D45>F 

 

2 

 
 

�OEF46>4
, 
4<E>GEE<
O 

�45<=5F 
7 

�4G4?L=4
O 

L>>?4��
�'%�, 

7 

�OEF46>4
, 
�>??5>F< 

6=4O 
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2.2. 'E?>6<O D54?<74F<< ?D>7D4<<O 

�D>7D4<<4 D4EEG<F4=4 =4 1 7>4 >5GG5=<O 6 >5NU<5 144 G4E4 

D<=4=E<D>64=<5 74 EGUF ED54EF6 E5DF<D<>4F4 ?5DE>=<D<F<D>64==>7> 

D<=4=E<D>64=<O (44?55 3 �$��). 
�4F5D<4?L=>-F5E=<G5E>>5 >55E?5G5=<O 

�4F5D<4?L=>-F5E=<G5E>4O 5474 

%F>?O, EFG?LO, >?4EE=4O 4>E>4. �=4<6<4G4?L=O5 <=EFDG<5=FO < 

<4F5D<4?O ?D<>5D5F4NFEO < ?D<=>EOFEO 6>E?<F4==<>4<< (=>6=<FO, >?5=, 
5G<474, ?<=5=>4, >4D4=44L). 

%?5F<4?L=O5 <=EFDG<5=FO ?D54>EF46?O5F ?5447>7 < 547>6>5 

GGD5645=<5 (D<7GD=O5 =>6=<FO, D574><, E?5F<4?L=4O 5G<474, E?5F<4?L=O= 

>?5=, >D4E>4). 
$>D<O >D74=<74F<< >5D47>64F5?L=>= 45OF5?L=>EF< < D56<< 

74=OF<= 

�>?<G5EF6> 45F5= 6 7DG??5 =5 5>?55 12 G5?>65>. �4=OF<O ?D>6>4OFEO 2 

D474 6 =545?N ?> 2 G4E4. 
 

2.3. $>D<O 4FF5EF4F<< 

$>D<O >>=FD>?O < >F5=>G=O5 <4F5D<4?O. 

' >464>7> D555=>4 E6>< 4>EF<65=<O. �46=> 57> ?D>46<65=<5 >F 
<><5=F4 =4G4?4 74=OF<=. �7> G<5=<O <>6=> ED46=<64FL F>?L>> E 57> 

6>7<>6=>EFO<< < G<5=<O<< 6 ?D>L?><. �4=><G =44> 5>?LL5 6D5<5=< 4?O 
>E6>5=<O <=EFDG<5=F>6, 4DG7><G =44> =4GG<FLEO G?D46?OFL E6><<< 
?4?LF4<<, <=><G 3 F5D?5=<5<. �F5=<64O D45>FG 6>E?<F4==<>4 =5>5E>4<<> 
4>F5=F<D>64FL 6=<<4=<5 =4 F><, GF> G44?>EL, D5>><5=4GO G?GGL4FL F>, GF> 
?>>4 =5 G445FEO. � 44?L=5=L5< 6O?>?=ONFEO D45>FO 4?O 6OEF46><, GF>  

O6?O5FEO >4=>= <7 ?>?>6<F5?L=OE >F5=>>. 
 

2.4. �F5=>G=O5 <4F5D<4?O 

�>>47O 4DG7 4DG7G, ?D>E<>FDO D45>F, E>D56=>64=<5, 65D=<E46, 
6OEF46>4, >>=>GDE. 

� =4G4?5 >5GG5=<O 4?O ?>445D6>< <=F5D5E4 D555=>4 > 74=OF<O<, 
?D<44=<O 5<G G65D5==>EF< 6 E555 ?5447>7 <E?>?L7G5F ?>?>6<F5?L=>5 

>F5=<64=<5. �> <5D5 ?D>46<65=<O 6?5D54, GE?5E< >F<5G4NFEO 7D4<>F4<< 

<?< ?>>MD5=<O<< 6 6<45 <4F5D<4?>6 4?O D45>FO. 
�<4O >>=FD>?O 

�4G<=4NFEO 74=OF<O E> 7=4>><EF64 E 45FL<< < 4<47=>EF<>< <E G<5=<=, 
=46O>>6, 7=4=<= =4 44==O= ?5D<>4 6D5<5=<. -F> ?D><EE>4<F =4 ?5D6>< 

74=OF<< < 6 ?D>F5EE5 >GDE4. �>E?54GNM<= >>=FD>?L >EGM5EF6?O5FEO =4 MF4?4E 

<77>F>6?5=<O <745?<O G5D57 >5M5=<5 E D555=>>< ?GF5< =45?N45=<O. 
�> E?>E>5G ?D>6545=<O <E?>?L7G5FEO DD>=F4?L=O= < <=4<6<4G4?L=O= 

>>=FD>?L. �5D6>=4G4?L=O= < ?D><56GF>G=O= >>=FD>?L ?D>E>4<F 6 
?D>F5EE5 74=OF<O. (�D<?>65=<O 3, 4,), ?D< ?>MF4?=>< >5NOE=5=<< 
<77>F>6?5=<O <745?<O. � >>=F5 74=OF<O ?>46>4<FEO <F>7 ?> >>=5G=><G 

D57G?LF4FG E 6>7<>6=>= >>DD5>F<5= <745?<O. 
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�D<F5D<< >F5=>< 

�O?>?=5==O5 45FL<< D45>FO >F5=<64NFEO ?> E?54GNM<< >D<F5D<O<: 
" F>G=>EFL 6O?>?=5=<O, 
" 4>>GD4F=>EFL <745?<O, 
" MEF5F<G=>EFL D45>FO, 
" =4?<G<5 F6>DG5E>>7> ?D>O6?5=<O (=>6>66545=<5), 
" >D<7<=4?L=>EFL (5E?< <745?<5 6O?>?=O5FEO =5 ?> >5D47FG). 
 

2.5.  �5F>4<G5E><5 <4F5D<4?O. 
�D>7D4<<4 ?D54GE<4FD<645F 7=4>><EF6> E =>6O<< 6<44<< F5E=<> ?> 

D45>F5 E 5G<47>=, 5E?< F4>>6O5 ?>O6<?<EL < =4 GE<>FD5=<5 ?5447>74. �>6O5 

F5<O <>7GF 6>?NG4FLEO 6 D45>G5< ?>DO4>5 674<5= EGM5EF6GNM<E, <?< 74 

EG5F <E E>>D4M5=<O. 
�D<<5D=>5 ?>EFD>5=<5 GG55=>7> 74=OF<O 

�D74=<74F<>==4O G4EFL: 74=OF<5 =4G<=45FEO E ?>47>F>6>< D45>G57> 

<5EF4 < ?D>65D>< =4?<G<O =5>5E>4<<OE <=EFDG<5=F>6 < <4F5D<4?>6. 
�D>E>4<F D47<<=>4 E> E?5F<4?L=O<< G?D46=5=<O<< 4?O DG> (><EF< DG> < 

?4?LFO), 4?O 7?47. 
�6>4=4O G4EFL: E>>5M5=<5 F5<O ?D><EE>4<F G5D57 D4EE>47 <EF>D<<, 

E>47><, E>5OF<O, E6O74==>7> E F5<>= 74=OF<O. 
�E=>6=4O G4EFL: �>MF4?=>5 6O?>?=5=<5 <745?<O. /�O?>?=5=<5 ?> 

EE5<5./ �45FEO 7444G4 < =4<5G4NFEO ?GF< 55 D5L5=<O, 4 6O?>?=5=<5 

?D><EE>4<FE4<>EF>OF5?L=>. 
�F>7>64O G4EFL: >5EG6445FEO <745?<5 < 6>7<>6=4O ED5D4 57> 

?D<<5=5=<O. 
$55OF4 7=4>><OFEO E 5G<47>= >4> <4F5D<4?>< E D47?<G=OE EF>D>=. 

�D><EE>4<F MF> G5D57 <EF>D<G5E><= M>E>GDE < ?D4>F<G5E><5 =45?N45=<O 6 

E>45 >?OF>6. �=< 7=4>><OFEO E D47?<G=O<< 55 6<44<< < ?D<<5=5=<5< 6 6<7=<, 
G7=4NF E6>=EF64 5G<47<. 

�=4>><EF6> E D47?<G=O<< F5E=<>4<< D45>FO E 5G<47>= 6OEFD4<645FEO 

?> EF5?5=< GE?>6=5=<O. &5<4F<>4  6O?>?=O5<OE D45>F 
E>>F=>E<FEO E >4?5=44D=O<< ?D474=<>4<< < <5D>?D<OF<O<< 

GGD5645=<O, 6 >>F>D>< ?D>6>4OFEO 74=OF<O. 
&5E=<>< ?> D45>F5 E 5G<47>=: 4???<>4F<O, >D<74<<, <>4G?L=>5 

>D<74<<, >GEG44<4, F65FO, >5LU<=>5 <>45?<D>64=<5, E>G?L?FGD4, 45>G?46. 
�E64<64O F5E=<>G >D<74<<, D55OF4, 7=4>><OFEO E 547>6O<< D>D<4<< 

E>?44O64=<O, E ?D56D4M5=<O<< ?DO<>G7>?L=<>>6 6 >644D4FO < >644D4F>6 6 

>DG7<, E>?44O64NF D<7GD>< D4EF5=<=, 6<6>F=OE, ?N45=, D47?<G=OE 

?D54<5F>6, E>47>G=OE 75D>56. 
�5N5<=>5 <>45?<D>64=<5 ?D54EF46?O5F E>5>= <77>F>6?5=<5 

D47?<G=OE <745?<= E <E?>?L7>64=<5< 6 <E >E=>65 F<?<=4D4, >>=GE4, >G54, 
?4D4??5?5?<?544, ?<D4<<4O < F.4. 

�O?>?=ONFEO D45>FO =4 6OEF46>G. 
&5<O 4?O D45>F: D4EF5=<O, 6<6>F=O5, ?N4<, 5OF>6O5 ?D54<5FO, 

G>D4L5=<O, 75D>< ?<F5D4FGD=OE ?D><76545=<=, 4DE<F5>FGD4 < F5E=<>4, 
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?D474=<><. 
�745?<5 <>65F <<5FL E6>5 =47=4G5=<5. -F> <>65F 5OFL ?>44D>> <?< 

>D>D<?5=<5 ?D54?>?4745<>7> ?>44D>4: >F>DOF><, EG<>G><, 
>>D>5>G><, 74>?44><, E4<>EF>OF5?L=O5 D<7GD><, 647O, F65FO, >G>?O < 

F.4. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



19 
 

2.6.  $45>G4O ?D>7D4<<4 6>E?<F4=<O  
?5447>74 4>?>?=<F5?L=>7> >5D47>64=<O 

______________________________________________________________ 

=4 20____3  20____ GG55=O= 7>4 

 

&5?L 6>E?<F4=<O E>744=<5 GE?>6<= 4?O D>D<<D>64=<O E>F<4?L=>- 

4>F<6=>=, F6>DG5E>>=, =D46EF65==> < D<7<G5E>< 74>D>6>= ?<G=>EF<, 
E?>E>5=>= =4 E>7=4F5?L=O= 6O5>D 6<7=5==>= ?>7<F<<, 4 F4>65 > 4GE>6=><G < 

D<7<G5E>><G E4<>E>65DL5=EF6>64=<N, E4<>D476<F<N 6 E>F<G<5. 
 

�444G< 6>E?<F4=<O 

- E?>E>5EF6>64FL D476<F<N ?<G=>EF< >5GG4NM57>EO, E ?>7<F<6=O< 

>F=>L5=<5< > E555, E?>E>5=>7> 6OD454FO64FL < D54?<7>6O64FL E>5EF65==O= 

677?O4 =4 <<D, D476<F<5 57> EG5N5>F<6=>= ?>7<F<<; 
- D476<64FL E<EF5<G >F=>L5=<= 6 >>??5>F<65 G5D57 D47=>>5D47=O5 

D>D<O 4>F<6=>= E>F<4?L=>= 45OF5?L=>EF<; 
- E?>E>5EF6>64FL G<5=<N E4<>EF>OF5?L=> >F5=<64FL ?D><EE>4OM55 < 

<E?>?L7>64FL =4>4??<645<O= >?OF 6 F5?OE E4<>E>65DL5=EF6>64=<O < 

E4<>D54?<74F<< 6 ?D>F5EE5 6<7=545OF5?L=>EF<; 
- D>D<<D>64=<5 < ?D>?474=44 74>D>6>7> >5D474 6<7=<. 

 

$57G?LF4F>< 6>E?<F4=<O O6?O5FEO 4>5D>E>65EF=4O D45>F4 

?5447>7>6, =4?D46?5==4O =4 4>EF<65=<5 ?>EF46?5==>= F5?<, >>F>D4O 

?>76>?<F D555=>G ?>?GG<FL =5>5E>4<<O5 E>F<4?L=O5 =46O><, >>F>DO5 

?><>7GF 5<G ?GGL5 >D<5=F<D>64FLEO 6 E?>6=>< <<D5 G5?>65G5E><E 

674<<>>F=>L5=<=, MDD5>F<6=55 =4?46<64FL >><<G=<>4F<N E >>DG64NM<<<, 
G65D5==55 E55O GG6EF6>64FL 6> 674<<>45=EF6<< E =<<<, ?D>4G>F<6=55 

E>FDG4=<G4FL E ?N4L<< D47=OE 6>7D4EF>6 < D47=>7> E>F<4?L=>7> ?>?>65=<O, 
E<5?55 <E>4FL < =4E>4<FL 6OE>4O <7 FDG4=OE 6<7=5==OE E<FG4F<=, 
>E<OE?5==55 6O5<D4FL E6>= 6<7=5==O= ?GFL 6 E?>6=OE ?><E>4E EG4EFLO 4?O 
E55O < >>DG64NM<E 57> ?N45=. 

 

�D<>D<F5F=O5 =4?D46?5=<O 6 >D74=<74F<< 6>E?<F4F5?L=>= 

D45>FO 

�D4644=E>>-?4FD<>F<G5E>>5 6>E?<F4=<5: D>D<<D>64=<5 

?4FD<>F<G5E><E, F5==>EF=OE ?D54EF46?5=<= > ?N56< > �FG<7=5, =4D>44< 

$>EE<=E>>= $545D4F<<, > E6>5= <4?>= D>4<=5, D>D<<D>64=<5 ?D54EF46?5=<= 

> F5==>EFOE >G?LFGD=>-<EF>D<G5E>>7> =4E?54<O $>EE<<, G646<F5?L=>7> 

>F=>L5=<O > =4F<>=4?L=O< 75D>O< < >G?LFGD=O< ?D54EF46?5=<O< 

D>EE<=E>>7> =4D>44. 
�GE>6=>-=D46EF65==>5 6>E?<F4=<5 D>D<<DG5F F5==>EF=O5 

?D54EF46?5=<O > <>D4?<, >5 >E=>6=OE ?>=OF<OE MF<>< (4>5D> < 7?>, <EF<=4 < 

?>6L, E<OE? 6<7=<, E?D4654?<6>EFL, <<?>E5D4<5, ?D>5?5<5 =D46EF65==>7> 

6O5>D4, 4>EF><=EF6>, ?N5>6L < 4D.), > 4GE>6=OE F5==>EFOE =4D>4>6 $>EE<<, >5 

G646<F5?L=>< >F=>L5=<< > FD44<F<O<, >G?LFGD5 < O7O>G E6>57> =4D>44 < 4D. 
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=4D>4>6 $>EE<<. 

%G4>65EF65==>-MEF5F<G5E>>5 6>E?<F4=<5 <7D45F 646=GN D>?L 6 

D>D<<D>64=<< E4D4>F5D4 < =D46EF65==OE >4G5EF6, 4 F4>65 6 D476<F<< 

E>D>L57> 6>GE4 < 6 ?>6545=<<. 
%?>DF<6=>->74>D>6<F5?L=>5. $<7<G5E>>5 6>E?<F4=<5 E>45=EF6G5F 

74>D>6><G >5D47G 6<7=<. 
&DG4>6>5 < ?D>D>D<5=F4F<>==>5 6>E?<F4=<5 D>D<<DG5F 7=4=<O, 

?D54EF46?5=<O > FDG4>6>= 45OF5?L=>EF<; 6OO6?O5F F6>DG5E><5 E?>E>5=>EF< < 

?D>D5EE<>=4?L=O5 =4?D46?5=<O >5GG4NM<EEO. 
�>E?<F4=<5 ?>7=464F5?L=OE <=F5D5E>6. �>E?<F4=<5 ?>7=464F5?L=OE 

<=F5D5E>6 D>D<<DG5F ?>FD55=>EFL 6 ?D<>5D5F5=<< =>6OE 7=4=<=, <=F5D5E > 

F6>DG5E>>= 45OF5?L=>EF<. 
 

$45>F4 E >>??5>F<6>< >5GG4NM<EEO 

-D>D<<D>64=<5 ?D4>F<G5E><E G<5=<= ?> >D74=<74F<< >D74=>6 

E4<>G?D46?5=<O MF<>5 < ?E<E>?>7<< >5M5=<O, F5E=>?>7<< E>F<4?L=>7> < 

F6>DG5E>>7> ?D>5>F<D>64=<O; 
->5GG5=<5 G<5=<O< < =46O>4< >D74=<74F>DE>>= 45OF5?L=>EF<, 

E4<>>D74=<74F<<, D>D<<D>64=<N >F65FEF65==>EF< 74 E55O < 4DG7<E; 
-D476<F<5 F6>DG5E>>7> >G?LFGD=>7>, >><<G=<>4F<6=>7> ?>F5=F<4?4 

D55OF 6 ?D>F5EE5 GG4EF<O 6 E>6<5EF=>= >5M5EF65==> 3 ?>?57=>= 

45OF5?L=>EF<; 
-E>45=EF6<5 D>D<<D>64=<N 4>F<6=>= 7D4644=E>>= ?>7<F<<; 
-6>E?<F4=<5 E>7=4F5?L=>7> >F=>L5=<O > FDG4G, > ?D<D>45, > E6>5<G 

7>D>4G. 
$45>F4 E D>4<F5?O<< 

->D74=<74F<O E<EF5<O <=4<6<4G4?L=>= < >>??5>F<6=>= D45>FO E 

D>4<F5?O<< (F5<4F<G5E><5 55E54O, E>5D4=<O, <=4<6<4G4?L=O5 >>=EG?LF4F<<) 
-E>45=EF6<5 E??>G5=<N D>4<F5?LE>>7> >>??5>F<64 < 6>6?5G5=<5 6 

6<7=545OF5?L=>EFL >DG6>>6>7> >5N54<=5=<O (>D74=<74F<O < ?D>6545=<5 

>F>DOFOE 74=OF<= 4?O D>4<F5?5= 6 F5G5=<5 7>44) 
 

->D>D<?5=<5 <=D>D<4F<>==OE G7>?>>6 4?O D>4<F5?5= ?> 6>?D>E4< 

6>E?<F4=<O 45F5=. 

 

�5F>4O 6>E?<F4F5?L=>= D45>FO E 45FL<<: 
" <5F>4O D>D<<D>64=<O ?>7=4=<O 3 G55645=<5, <=EFDG>F46, D4EE>47, 

?5>F<O, 55E544, >5NOE=5=<5, D47NOE=5=<5, ?D<<5D, 4<E>GF; 
" <5F>4O >D74=<74F<< 45OF5?L=>EF< < D>D<<D>64=<O >?OF4 ?>6545=<O 

3 G?D46=5=<5, ?>DGG5=<5, ?5447>7<G5E>>5 FD55>64=<5, >5M5EF65==>5 

<=5=<5, 6>E?<F4F5?L=O5 E<FG4F<<; 
" <5F>4O EF<<G?<D>64=<O 3 <>F<64F<O 3 E>D56=>64=<5, ?>>MD5=<5. 
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�4?5=44D=O= ??4= 6>E?<F4F5?L=>= D45>FO  

>DG6>4 «�G<46=4O ??4EF<>4» =4 20__ 3 20__GG55=O= 7>4 

 

�4<<5=>64=<5 

<5D>?D<OF<= 

�4F4 �<4 45OF5?L=>EF< �F65FEF65==O= 

%5=FO5DL 

1 «�5=L >F>DOFOE 465D5=»  �OEF46>4 &4F56>EO= �. �. 
2 �>E6OM5=<5 6 >DG6>>6FO»  �>F<O &4F56>EO= �. �. 
3 «�57>?4E=>EFL-MF> 646=>! 

�=4FL >5 MF>< 4>?65= 

>464O=» 

 �65EF-<7D4 &4F56>EO= �.�. 

4 «�75G>4 ?5L5E>44»  �>F<O &4F56>EO= �.�. 
�>FO5DL 

5 �5=L ?>6<?>7> G5?>65>4  �77>F>6?5=<5 

EG65=<D>6 

&4F56>EO= �.�. 

6 «�>44D>> GG<F5?N»  �77>F>6?5=<5 

EG65=<D>6 

&4F56>EO= �.�. 

7 «�G54=E>>5 >474G5EF6>»  �5E544 &4F56>EO= �.�. 
8 «�E5==<5 <>F<6O»  �OEF46>4 &4F56>EO= �.�. 

�>O5DL 

9 �5=L 74>D>6LO  -EF4D5F4 &4F56>EO= �.�. 
10 «�<5EF5 65E5?> <7D4FL»  �>=>GDE=4O-<7D>64O 

?D>7D4<<4 

&4F56>EO= �.�. 

11 «�5=L =4D>4=>7> 

54<=EF64» 

 �5E544. �<>F>D<=4 &4F56>EO= �.�. 

12 «%ND?D<7 4?O <4<O»  �4EF5D->?4EE &4F56>EO= �.�. 
�5>45DL 

13 �4EF5DE>4O 4544 �>D>74 

«�>6>7>4=<5 <7DGL><» 

 �>=>GDE =>6>7>4=57> 

>D>D<?5=<O >45<=5F>6 

&4F56>EO= �.�. 

14 �D46<?4 ?>6545=<O ?D< 

?54>EF465 

 �5E544 &4F56>EO= �.�. 

15 «�<<=<= <<D»  �OEF46>4 45FE>>7> 

F6>DG5EF64 

&4F56>EO= �.�. 

16 «�GEFL U?>4 =>6>7>4=OO 

=4< D44>EFL ?D<=5EUF» 

 �<>F>D<=4 &4F56>EO= �.�. 

/=64DL 

17 «�E?< FO 6 >><4=45 E =4<<, 
G6464= 74>>= �G54=<!» 

 �5E544 ?> 74>>=G 

15:39 

&4F56>EO= �.�. 

18 «�<<=<5 74546O»  �7DO &4F56>EO= �.�. 
$56D4?L 

20 «�5D>< =4L57> 6D5<5=<»  �5E544 &4F56>EO= �.�. 
21 «/-5G4GM<= 74M<F=<> 

�F5G5EF64!» 

 �>=>GDE=4O 4?O 

N=>L5EF64 

�5447>7< 4/> 

22 «,<D>>4O �4E?5=<F4»  �>=>GDE=4O ?D>7D4<<4 �5447>7< 4/> 

23 «$4EFU< 74>D>6O<<»  �7D4 &4F56>EO= �.�. 
�4DF 

24 « � =G->4 456>G><»  �>=>GDE=4O ?D>7D4<<4 >> 
�=N 8 �4DF4 

�5447>7< 4/> 

25 «�5E5==OO >4?5?L»  �OEF46>4 &4F56>EO= �.�. 
26 «%>D>L<5 <4=5DO, 4>5DO5 

E?>64» 

 �5E544 &4F56>EO= �.�. 
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�4<<5=>64=<5 

<5D>?D<OF<= 

�4F4 �<4 45OF5?L=>EF< �F65FEF65==O= 

 

�?D5?L 

27 '?O54=EO =4 74>D>6L5!  �>=>GDE=4O ?D>7D4<<4 &4F56>EO= 

�.�. 
28 «'4<6<F5?L=O= <<D 

>>E<>E4» 
 �7D4-6<>F>D<=4 &4F56>EO= 

�.�. 
29 «�5>D7<56E>4O ?5=F>G>4»  �4EF5D->?4EE &4F56>EO= 

�.�. 
�4= 

30 «�>44D>> 65F5D4=G»  �>F<O &4F56>EO= �.�. 
31 «�>5544 6 E5D4F5 >464>7> <7 

=4E» 
 �D474=<> >> �=N 

�>554O 
&4F56>EO= �.�. 

32 «�O-6<5EF5!»  �D474=<> >DG6>>6F56 &4F56>EO= �.�. 
 

33 �5D>?D<OF<O ?> 

?D>D<?4>F<>5 =4D>><4=<< 

ED54< =5E>65DL5==>?5F=<E 

 %>6<5EF=> E ���'%�, 

77, ���'%�, 78, 
'4>5=5=E>>= E5?LE>>= 

5<5?<>F5>>= 

&4F56>EO= �.�. 
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2.7. %?<E>> ?<F5D4FGDO 

 

1. �D>=L><= %. < �. �E5 >5 >D<74<<: %?.�.�.2006 

2. �5?>64 �.�. «�>?>?=<F5?L=>5 >5D47>64=<5: =5>>F>DO5 6>?D>EO 

?D>7D4<<<D>64=<O». 3 �., 19977. 
3. �G=?>64 �.�. «�4> D47D45>F4FL 46F>DE>GN ?D>7D4<<G» 3 �., 

2000 7. 
4.  �4?L �.�. &>?>>6O= E?>64DL 6<6>7> 65?<>>DGEE>>7> O7O>4 

5. �<<=OO �.�. < 4D. �5M4O >G?LFGD4 G5?>65>4
 6 E<EF5<5 FD55>64=<= 7>EG44DEF65==>7> >5D47>64F5?L=>7> 

EF4=44DF4. 3 �., 20007. 
6. �==>64F<< 6 D>EE<=E>>< >5D47>64=<<. 3 �.: «��'�»,20007. 
7.  �<DLO=>64 �?L74. �G<46=O5 D4=F47<<.�.2006. 
8. �G?47<=4 �... �>7D4EF=4O ?E<E>?>7<O ($476<F<5 D555=>4 >F 

D>645=<O4> 17 ?5F): 'G55=>5 ?>E>5<5. 3 �., 19967. 
9.  �G=<E<D> �4E4E4D4 < &>L< &4>4E4<4, �D<74<< 4?O 7=4F>>>6. 

�lsio.1988 

10.  �5F>4<G5E><5 D5>><5=44F<< ?> E>EF46?5=<N >5D47>64F5?L=OE 

?D>7D4<< 'G55=OE 746545=<=./�>4 D544>F<5= �.�. �GD=5L>6>=. 3�.,19957. 
11. �<FN>>6 �... «�E=>6=O5 ?5447>7<G5E><5 F5E=>?>7<<». 3 �., 
«�=><-�D5EE», 19997. 
12. �>E?55><= �.�. %?>64DL <564G=4D>4=>= E<<6>?<>< < 

M<5?5<4F<><. 3�., «�564G=4D>4=O5 >F=>L5=<O», 19947. 
13. �D>5>F<D>64=<5 >5D47>64F5?L=OE ?D>7D4<< 6 'GD5645=<OE 

4>?>?=<F5?L=>7> >5D47>64=<O 45F5=. / 46F>D-E>EF464<F5?L �G=?>64 �.�.. 3 �., 
2003 7. 

14. %5D64=F>64 &.�. �D<74<<. �47>6O5 D>D<O. �.2008 

15. %>>>?>64-�G54= �. '7>DO <7 5G<47<. 7. &65DL, �G?LFGD4 < 

FD44<F<<. 2006 
16. '>?F5D %5?5=. '7>DO <7 5G<46=OE ?5=F. �. 2007 7. 
17. %>>>?>64 %. ,>>?4 >D<74<<: 4???<>4F<< < <>74<>4. - �.: �74-6> 

«-�%��- �D5EE»;%�5.:�4?5D< %��, 2008. - 176E., <?. (%5D<O: «L>>?5 

< 4><4, 4�.: $>?LD �><<, 2007.�>445<<O «'<5?O5 DG><».). 
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�D<?>65=<5 1 

 

� E>>F65FEF6<< E E>6D5<5==O<< FD55>64=<O<< > 4>?>?=<F5?L=O< 

>5M5D476<64NM<< ?D>7D4<<4<, GG55=>-<5F>4<G5E>>5 >55E?5G5=<5 < 

<=D>D<4F<>==>5 >55E?5G5=<5 ?D>7D4<<O (?<F5D4FGD4, <5F>4<G5E><5 

<4F5D<4?O) 4>?>?=5= <=D>D<4F<>==O< <4F5D<4?>< > 45>>D4F<6=OE 

F5E=<>4E D45>FO E 5G<47>= < EEO?>4<< =4 E4=F «%FD4=4 <4EF5D>6». 
�>?>?=5=<5 ?><>65F D4EL<D<FL ?D54EF46?5=<O GG4M<EEO > <=>7>>5D47<< 

D>D< D45>FO E 5G<47>=. 
&5E=<>< D45>FO E 5G<47>= 

�=D<E D>?4<=7 («$44G6=>5 E>?44O64=<5») 3 F5E=<>4 E>?44O64=<O 

5G<47<. �>O6<?4EL 6 �>??4=4<<. &5E=<>4 FD55G5F 6=<<4=<O < 4>>GD4F=>EF<, 
=> ?D< MF>< ?>76>?O5F 557 FDG44 45?4FL MDD5>F=O5 >F>DOF>< <?< G>D4L4FL 

EFD4=<G>< ?4<OF=>7> 4?L5><4 (E>D4?5G><=7) <=F5D5E=O<< 45>>D4F<6=O<< 

M?5<5=F4<<. �D<<5DO: http://stranamasterov.ru/taxonomy/term/776 

�G<47>??4EF<>4 ?> 6<4G F6>DG5EF64 >G5=L ?>E>64 =4 E>G?L?FGDG. �>, 
6 5G<47>??4EF<>5 6E5 <745?<O 6=GFD< ?GEFO, 6E5 <745?<O - >5>?>G>< 

<7>5D4645<>7> ?D54<5F4. � 6 E>G?L?FGD5 - ?<5> <4UF =4D4M<64=<5 >5NU<4 

4>?>?=<F5?L=O<< M?5<5=F4<<, ?<5> G5<D45FEO (>FE5>45FEO) ?<L=55. 
�D<<5DO: http://stranamasterov.ru/taxonomy/term/462 

�>DD>FDG5>G>< 3 F4> =47O645FEO F5E=<>4 6O?>?=5=<O <745?<=, 6 

>>F>D>= 4?O 45>>D<D>64=<O ?>65DE=>EF5= <?< 4?O E>744=<O >5NU<=OE D<7GD 

<E?>?L7GNF FDG5>G>< <7 7>DD<D>64==>= 5G<47<. �>DD>FDG5>G>< ?>?GG4NFEO 

?GFU< =4>DGG<64=<O ?>?>EO 5G<47< =4 ?4?>G>G, >4D4=44L <?< E?<FG E 

?>E?54GNM<< E64F<5<. %64F4O 7>DD>FDG5>G>4 E>D>L> 45D6<F D>D<G < 

<<55F <=>65EF6> 64D<4=F>6 <E?>?=5=<O < <E?>?L7>64=<O. �D<<5DO: 
http://stranamasterov.ru/taxonomy/term/1492 

�6<??<=7 (>F 4=7?. quilling 3 >F E?>64 quil «?F<GL5 ?5D>») - <E>GEEF6> 

5G<47>>DGG5=<O. �>7=<>?> 6 ED54=565>>6>= �6D>?5, 745 <>=4E<=< E>74464?< 

<544?L>=O, 74>DGG<64O =4 >>=G<>5 ?F<GL57> ?5D4 5G<46=O5 ?>?>E>< E 

?>7>?>G5==O<< >D4O<<, GF> E>74464?> <<<F4F<N 7>?>F>= <<=<4FNDO. 
�D<<5DO: http://stranamasterov.ru/taxonomy/term/587 

�D<74<< «%?>65==4O 5G<474» 4 4D56=55 <E>GEEF6> E>?44O64=<O 

D<7GD>> <75G<47<. 
�E>GEEF6> >D<74<< E6><<< >>D=O<< GE>4<F 6 4D56=<= �<F4=, 745 < 

5O?4 >F>DOF4 5G<474. 
�D<<5DO: http://stranamasterov.ru/taxonomy/term/560 

�<D<74<<3 6<4 >D<74<<, 6 >>F>D>< 4>?GE>45FEO <E?>?L7>64=<5 

=>6=<F < D47D574=<5 5G<47< 6 ?D>F5EE5 <77>F>6?5=<O <>45?<. -F> >E=>6=>5 

>F?<G<5 ><D<74<< >F 4DG7<E F5E=<> E>?44O64=<O 5G<47<, GF> ?>4GUD>=GF> 6 

=4764=<<: 

http://stranamasterov.ru/taxonomy/term/776
http://stranamasterov.ru/taxonomy/term/462
http://stranamasterov.ru/taxonomy/term/1492
http://stranamasterov.ru/taxonomy/term/587
http://stranamasterov.ru/taxonomy/term/560
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><DG 3 D574FL, >4<< 3 5G<474. Pop-up 3 F5?>5 =4?D46?5=<5 6 <E>GEEF65. 
-F4 F5E=<>4 E>G5F45F M?5<5=FO F5E=<>. - �<D<74<< < �OD574=<O < ?>76>?O5F 

E>74464FL >5N5<=O5 >>=EFDG>F<< < >F>DOF><, E>?44O64NM<5 6 ??>E>GN 

D<7GDG. 
�D<<5DO: http://stranamasterov.ru/taxonomy/term/1723 

- �GEG44<4 (E O?. 5G>6. «?5>4DEF65==O= L4D») 3 

5G<46=4O <>45?L, >>F>D4O >5OG=> (=> =5 6E5744) D>D<<DG5FEO EL<64=<5< 

6<5EF5 >>=F>6 

<=>65EF64 >4<=4>>6OE ?<D4<<44?L=OE <>4G?5= (>5OG=> MF> 

EF<?<7>64==O5 F65FO, E?>65==O5 <7 >644D4F=>7> ?<EF4 5G<47<), F4> GF> 

?>?GG45FEO F5?> L4D>>5D47=>= D>D<O. �4> 64D<4=F, >F45?L=O5 >><?>=5=FO 

<>7GF 5OFL 

E>?55=O 6<5EF5 (=4?D<<5D, >GEG44<4 =4 =<6=5< D>F> ?>?=>EFLN 

E>?55=4, 4 =5 EL<F4). �=>744, >4> G>D4L5=<5, E=<7G ?D<>D5??O5FEO ><EF>G>4. 
�E>GEEF6> >GEG44<O ?D><EE>4<F >F 4D56=5= O?>=E>>= FD44<F<<, >>744 

>GEG44<O 

<E?>?L7>64?<EL 4?O D<<<4<4 < E<5E< EGE<E ?5?5EF>>6; 6>7<>6=>, MF> 

5O?<?5D6O5 =4EF>OM<5 5G>5FO F65F>6 <?< FD46. %4<> E?>6> ?D54EF46?O5F 

>><5<=4F<N 46GE O?>=E><E E?>6 >GEGD< (?5>4DEF6>) < F4<4 (L4D). � 

=4EF>OM55 6D5<O >GEG44<O >5OG=> <E?>?L7GNF 4?O G>D4L5=<O <?< 6 

>4G5EF65 ?>44D>>6. �GEG44<4 O6?O5FEO 646=>= G4EFLN >D<74<<, 6 

G4EF=>EF< >4> ?D54L5EF65==<F4 <>4G?L=>7> >D<74<<. �U G4EF> ?GF4NF E 

<>4G?L=O< >D<74<<, GF> =565D=>, F4> >4> M?5<5=FO, E>EF46?ONM<5 >GEG44<G, 
EL<FO <?< E>?55=O, 4 =5 6?>65=O 4DG7 6 4DG74, >4> ?D54?>?4745F <>4G?L=>5 

>D<74<<. 
�D<<5DO: http://stranamasterov.ru/taxonomy/term/850 

- �D<74<< <7 >DG7>6 - E>?44O64=<5 >D<74<< <7 5G<46=>7> >DG74. 
�5OG=> 74F5< <7 E?>65==OE 45F4?5= E>?5<645FEO 4???<>4F<O. 
�D<<5DO: http://stranamasterov.ru/taxonomy/term/1636 

- �D<74<< <>4G?L=>5 - E>744=<5 >5NU<=OE D<7GD <7 FD5G7>?L=OE 

<>4G?5= >D<74<< 3 ?D<4G<4=4 6 �<F45. &5?4O D<7GD4 E>5<D45FEO <7 

<=>65EF64 >4<=4>>6OE G4EF5= (<>4G?5=). �464O= <>4G?L 

E>?44O645FEO ?> ?D46<?4< >?4EE<G5E>>7> >D<74<< <7 >4=>7> ?<EF4 5G<47<, 4 

74F5< <>4G?< 

E>54<=ONFEO ?GF5< 6>?44O64=<O <E 4DG7 6 4DG74. �>O6?ONM4OEO ?D< 

MF>< E<?4 FD5=<O =5 44UF >>=EFDG>F<< D4E?4EFLEO. �D<<5DO: 
http://stranamasterov.ru/taxonomy/term/15 

$apier-mâché «6U64==4O 5G<474» 3 ?57>> ?>444NM4OEO D>D<>6>5 

<4EE4, ?>?GG45<4O <7 E<5E< 6>?>>=<EFOE <4F5D<4?>6 (5G<47<, >4DF>=4) E 

>?5OM<<< 65M5EF64<<, >D4E<4?><, 7<?E>< < F. 4. �7 ?4?L5-<4L5 45?4NF 

<G?O6<, <4E><, GG55=O5 ?>E>5<O, <7DGL><, F54FD4?L=GN 5GF4D>D<N, 
L>4FG?><. � >F45?L=OE E?GG4OE 4465 <555?L. � $54>E><=>, �4?5E5, %>?G5 <7 

?4?L5-<4L5 <77>F46?<64NF >E=>6G 4?O FD44<F<>==>= ?4>>6>= <<=<4FNDO. 
�O 65 <>65F5 45>>D<D>64FL 747>F>6>G <7 ?4?L5-<4L5 =5 F>?L>> >D4E>4<<, 
D4E?<EO64O >4> <765EF=O5 EG4>6=<><, 4 <E?>?L7GO 45>G?46 <?< 4EE4<5?O6. 

http://stranamasterov.ru/taxonomy/term/1723
http://stranamasterov.ru/taxonomy/term/850
http://stranamasterov.ru/taxonomy/term/1636
http://stranamasterov.ru/taxonomy/term/15
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�D<<5DO: http://stranamasterov.ru/taxonomy/term/561 

Scrapbooking: scrap 3 6OD57>4, book 3 >=<74, 5G>6. «>=<74 <7 6OD57>>» 
3 6<4 DG>>45?L=>7> <E>GEEF64, 74>?NG4NM57>EO 6 <77>F>6?5=<< < 

>D>D<?5=<< E5<5==OE <?< ?<G=OE D>F>4?L5><>6. -F>F 6<4 F6>DG5EF64 

?D54EF46?O5F E>5>= E?>E>5 ED4=5=<O ?<G=>= < E5<5==>= <EF>D<< 6 6<45 
D>F>7D4D<=, 7475F=OE 6OD57>>, D<EG=>>6, 74?<E5= < 4DG7<E ?4<OF=OE 

<5?>G5=, <E?>?L7GO E6>5>5D47=O= E?>E>5 E>ED4=5=<O < ?5D544G< >F45?L=OE 
<EF>D<= E ?><>MLN >E>5OE 6<7G4?L=OE < F4>F<?L=OE ?D<U<>6 6<5EF> 

>5OG=>7> D4EE>474. �E=>6=4O <45O E>D4?5G><=74 3 E>ED4=<FL D>F>7D4D<< < 

4DG7<5 ?4<OF=O5 65M< > >4><E ?<5> E>5OF<OE =4 4?<F5?L=O= ED>> 4?O 

5G4GM<E ?>>>?5=<=. %?5F<4?L=O< >5D47>< 45>>D<D>64==O= D>F>4?L5>< 
E>EF><F <7 >F45?L=OE ?<EF>6, >464O= <7 >>F>DOE ?D54EF46?O5F 74>>=G5==GN 
<OE?L, 6OD465==GN D>F>>>??465<. �5OG=> F4>>= 4?L5>< >E64FO645F 

>4>GN-F> >4=G F5<G: E644L5G, N5<?5=, D>645=<5 D55U=>4, >4=<>G?O =4 <>D5 < 
F4> 44?55. %?54G5F 74<5F<FL, GF> E>D4?5G><=7 =5 >7D4=<G<645FEO E>744=<O<< 

>?4EE<G5E><E 4?L5><>6 3 �><=7, 4=7?. cardmaking, 5G>6. «<77>F>6?5=<5 

>F>DOF>>»). %GM5EF6G5F < F4> =47O645<O= «F<DD>6>= E>D4?5G><=7», 
<E?>?L7GNM<= 4?O >D>D<?5=<O < G>D4L5=<O D>F>7D4D<= D47?<G=O5 

?D>7D4<<=O5 6OG<E?<F5?L=O5 ED54EF64 (G=<65DE4?L=O5 7D4D<G5E><5 

D544>F>DO <?< E?5F<4?<7<D>64==>5 ?D>7D4<<=>5 >55E?5G5=<5, 
?D54=47=4G5==>5 4?O >5D45>F>< D>F>7D4D<= < >5D4<?5=<O D4<>4<< 
D47?<G=>7> 6<44 < D>D<O). $45>FG ?> E>744=<N 4?L5><>6 G?D>M45F 

<=>65EF6> L45?>=>6, 747>F>6>> E4<OE D47=OE D>D<, <E?>?L7GNM<5 

D47?<G=O5 6<4O >D5??5=<= (>>?LF4, ?5=FO, ?DG6<=><). �>6=> < E4<><G 

<77>F>6<FL 747>F>6>G, 6OD5746 5U <7 ??>F=>7> >4DF>=4, 6 6<45 E<?GMF>6 

E5D45G>4, 74<>4, 4><<>4, F65F>G>4 < 4DG7<E 45>>D4F<6=OE M?5<5=F>6. 
�7 �<><?54<<: 
http://ru.wikipedia.org/wiki/%>D4?5G> 

http://www.scraboo.ru/;http://scrap-

info.ru/;http://rus-scrap.ru/ 
«%F<<?4=>» - =4?D46?5=<5 6 E>D4?5G><=75 - 6<>F>D<4=E><= EF<?L, 

E?57>4 ?5D5D45>F4==O=, 6 4GE5 M?>E< ,5D?>>4 %>?<E4. �E>55==>EFLN MF>7> 

EF<?O O6?O5FEO =5E>>?L>> EG<D4G=>5 =4EFD>5=<5, F5<=O5 F>=4, E<5L4==O5 E 

5?5EFOM<<< 45F4?O<<, <=>7> <5F4??<G5E>>7> < «F5E=<G=>7>», 
«<=4GEFD<4?L=>7>» =4 6<4. �>4D>5=5=: http://rus-scrap.ru/notes/stil- 

stimpank.html 
&<E=5=<5 («M<5>EE<=7») 3 <5E4=<G5E>>5 6O446?<64=<5, E>744NM55 

<7>5D465=<O =4 5G<475, >4DF>=5, ?>?<<5D=>< <4F5D<4?5 <?< ??4EF<>5, D>?L75, 
=4 ?5D74<5=F5 (F5E=<>4 =47O645FEO «?5D74<4=>», E<.=<65), 4 F4>65 =4 >>65 

<?< =4 55D5EF5, ?D< >>F>D>< =4 E4<>< <4F5D<4?5 ?>?GG45FEO D5?L5D=>5 

<7>5D465=<5 6O?G>?>7> <?< 6>7=GF>7> LF4<?4 ?D< =47D565 <?< 557 =57>, 
<=>744 E 4>?>?=<F5?L=O< <E?>?L7>64=<5< D>?L7< < >D4E><. &<E=5=<5 

>EGM5EF6?O5FEO 6 >E=>6=>< =4 ?5D5??5F=OE >DOL>4E, >F>DOF>4E, 
?D<7?4E<F5?L=OE 5<?5F4E, MF<>5F>>, <O7><E G?4>>6>> < ?D. -F>F 6<4 D45>F 

<>65F >?D545?OFLEO <=>7<<< D4>F>D4<<: GE<?<5<, D4>FGD>= < F>?M<=>= 

http://stranamasterov.ru/taxonomy/term/561
http://ru.wikipedia.org/wiki/%D0%A0%D0%8E%D0%A0%D1%94%D0%A1%D0%82%D0%A0%C2%B0%D0%A0%D1%97%D0%A0%C2%B1%D0%A1%D1%93%D0%A0%D1%94
http://scrap-info.ru/%3B
http://scrap-info.ru/%3B
http://rus-scrap.ru/
http://rus-scrap.ru/notes/stil-stimpank.html
http://rus-scrap.ru/notes/stil-stimpank.html
http://rus-scrap.ru/notes/stil-stimpank.html
http://rus-scrap.ru/notes/stil-stimpank.html
http://rus-scrap.ru/notes/stil-stimpank.html
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<4F5D<4?4, =4?D46?5=<5< 57> ?>D57><, <4>5F>< < 4DG7<<< D4>F>D4<<. 
�D<<5DO: http://stranamasterov.ru/taxonomy/term/1626 

�<4O: - �5D74<4=> - ?5D74<5=F=4O 5G<474 (??>F=4O 6>MU=4O >4?L>4) 
>5D454FO645FEO <=EFDG<5=F>< 4?O F<E=5=<O < 6 ?D>F5EE5 >5D45>F>< 

EF4=>6<FEO 6O?G>?>= < 55?55F. 

�D<<5DO: http://stranamasterov.ru/taxonomy/term/1705 - 

&5>EFGD<D>64=<5 - =4=5E5=<5 <7>5D465=<O E ?><>MLN >?<L5 =4 

7?44><= <4F5D<4?, >4> ?D46<?>, <5F4??<7<D>64==GN 5G<47G, E F5?LN 

<<<F4F<< F<E=5=<O D>?L7>=. &4>65 ?D<<5=O5FEO 4?O <<<F4F<< >>6< 

>?D545?5==OE ?>D>4 (=4?D<<5D, >?<L5 E D<EG=>><, <<<F<DGNM<< >>6G 

>D>>>4<?4 < F. 4) 
&>DF564=<5 3 6<4 5G<46=>7> F6>DG5EF64, 74>?NG4NM<=EO 6 E>744=<< 

4???<>4F<6=>= <>74=><, E>744645<>= <7 =55>?LL<E >GE>G>>6 7>DD<D>64==>= 

(>D5?>6>=) 5G<47<. �D<<5DO: http://stranamasterov.ru/taxonomy/term/521 

%GM5EF6G5F F>DF564=<5 =4 ??4EF<?<=5. 
�>4D>5=5=: http://stranamasterov.ru/taxonomy/term/666 

&4>65 5EFL F>DF564=<5 =4 L<L>4E: http://stranamasterov.ru/node/91429 

http://stranamasterov.ru/taxonomy/term/1626
http://stranamasterov.ru/taxonomy/term/1705
http://stranamasterov.ru/taxonomy/term/521
http://stranamasterov.ru/taxonomy/term/666
http://stranamasterov.ru/node/91429
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�D<?>65=<5 2 

 

�D<74<<: >5>7=4G5=<O, GE?>6=O5 7=4>< < 547>6O5 

D>D<O �E=>6=O5 >5>7=4G5=<O < GE?>6=O5 7=4><, ?D<=OFO5 6 >D<74<<, 
=5>5E>4<<> 7=4FL >G5=LE>D>L>, GF>5O 557 FDG44 G<F4FL EE5<O. 

 
�7>5D465=<5 �5>7=4G5=<5 �D<<5D 

�<=<O E>?44>< 

<4>?<=>==,<=4 

E55O= 
 

%FD5?>4 E>?44><<4>?<=>==, <=4 E55O= 
 

�<=<O E>?44>< 

<7>D>==, <>F 

E55O= 

 
%FD5?>4 

E>?44>< 

<7>D>==,<>F 

E55O= 

 
�5D57=GFL =4 

E55O 3 E>7=GFL < 

D47>7=GFL, 
E45?46 E>?44>G 

<4>?<=>== 

�>?GG<6L4OEO 

6 D57G?LF4F5 

?5D57<54 ?<=<O 

 

 
�56<4<<4O <?<6>>5D4645<4O ?<=<O 

 

 

 

 
�7>5D465=<5 �5>7=4G5=<5 �D<<5D 

%>6<5EF<FL G>474==O5 F>G><  

$4746<=GFL 5G<46=O5 E?>< 

 

$46=>7=4G=O5 G7?O; D46=>7=4G=O5 

>FD57><,?DO<>= G7>? (90 7D.) 
 

�?5D4F<< E D<7GD>= 
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�><5<=<D>64==O5 >?5D4F<< 

�7>5D465=<5 �5>7=4G5=<5 �D<<5D 

 %>?44>4 <74D<>L>>==  

 
 

 
�D>45?4FL G>474==GN 

>?5D4F<N =5E>>?L>> D47 

 
 %65D=GFL 

 

 
 

 

 
%?>6<FL =5E>>?L>> D47 

 

 

 
�>EF4FL, >F>DOFL, 6O65D=GFL, D4765D=GFL 

 

 �464FL, 74F>?>=GFL  

�=4>< >D>D<?5=<O 
 
 
 
 
 
 
 
 
 
 
 

 
�DG7<5 7=4>< 

�7>5D465=<5 �5>7=4G5=<5 �D<<5D 

�>65D=GFL D<7GDG =4 180 7D. 

�7>5D465=<5 �5>7=4G5=<5 

�<=<O 4?O D47D574 

�7>5D465=<5 �5>7=4G5=<5 

�><5D >?5D4F<< 

%F>D>=O 5G<47<: F65F=4O < =5F 

'65?<G5=<5 <4ELF45<D>64=<O 
 

%<>FD<F5 ?D>4>?65=<5 EE5<O =4 4D. EFD4=<F5 

�5D565D=GFL 

EF>D>=>= 

D<7GDG 4DG7>= 
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�47>6O5 D>D<O 

1. �?<= 

 

2. �>4O=4O 5><5>G>4 
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3. $><5 

 

4. $O54 
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5. �644D4F 

 

6. �O7GL>4 (45?45FEO =4 >E=>65 547>6>= D>D<O �644D4F) 
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7. %F>? (45?45FEO =4 >E=>65 547>6>= D>D<O �4F4<4D4=) 
 

 

9. �4F4<4D4= < �5DFGL>4 (=4 4-< MF4?5 ?>?GG45FEO 547>64O D>D<4 

�4F4<4D4=, =4 6-< 3 �5DFGL>4). �5?45FEO =4 >E=>65 547>6>= D>D<O 

�65DL. 
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�D<?>65=<5 3.  

�4DF4 ?<G=>EF=OE 4>EF<65=<= >5GG4NM57>EO  
         (6 54??4E, E>>F65FEF6GNM<E EF5?5=< 6OD465==>EF< <7<5DO5<>7> >4G5EF64)  

$4<<?<O, <<O D555=>4________________________________ �>7D4EF 

______________________ ________________   

�<4 < =4764=<5 45FE>>7> >5N54<=5=<O  __________________  

$.�.�. ?5447>74  ___  

�4F4 =4G4?4 =45?N45=<O_________  
 

  

%D>>< 4<47=>EF<><. �>>474F5?< 1 

?/7 

?/7 

2  

 

1.&5>D5F<G5E>4O ?>47>F>6>4 D55U=>4:  
1.1 &5>D5F<G5E><5 7=4=<O:  
1.2 �?445=<5 E?5F<4?L=>= F5D<<=>?>7<5= 
II.�D4>F<G5E>4O ?>47>F>6>4 D555=>4:  
2.1.�D4>F<G5E><5 G<5=<O < =46O><, 
?D54GE<>FD5==O5 ?D>7D4<<>=:     
2.�?445=<5  E?5F<4?L=O<  >5>DG4>64=<5<  < 
 >E=4M5=<5<  
2.3.  &6>DG5E><5 =46O><  
III.�5L5GG55=O5 G<5=<O < =46O>< D555=>4:   
3.1. 'G55=>-<=F5??5>FG4?L=O5 G<5=<O:  
4) G<5=<5 ?>45<D4FL < 4=4?<7<D>64FL E?5F<4?L=GN 
?<F5D4FGDG  
 5) G<5=<5 ?>?L7>64FLEO >><?LNF5D=O<< 
<EF>G=<>4<< <=D>D<4F<<   
E) G<5=<5 >EGM5EF6?OFL GG55=>-<EE?54>64F5?LE>GN 
D45>FG   
2.'G55=>->><<G=<>4F<6=O5 G<5=<O:  
4)  G<5=<5 E?GL4FL < E?OL4FL ?5447>74  
5)  G<5=<5 6OEFG?4FL ?5D54 4G4<F>D<5=   
E)  G<5=<5 65EF< ?>?5<<>G, GG4EF6>64FL 6 4<E>GEE<<.  
3.3.'G55=>->D74=<74F<>==O5 G<5=<O < =46O><:   
4) G<5=<5 >D74=<7>64FL E6>5 D45>G55 (GG55=>5) <5EF>  
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5) =46O>< E>5?N45=<O 6 ?D>F5EE5 45OF5?L=>EF< 
?D46<? 557>?4E=>EF<  
E) G<5=<5 4>>GD4F=> 6O?>?=OFL D45>FG  
IV. �D54<5F=O5 4>EF<65=<O GG4M57>EO:  
�4 GD>6=5 45FE>>7> >5N54<=5=<O (>DG6>4, EFG4<<, 
E5>F<<).   
�4 GD>6=5 L>>?O (?> ?<=<< 4>?>?=<F5?L=>7> 
>5D47>64=<O).   
�4 GD>6=5 D4=>=4, 7>D>44.  
�4 6E5D>EE<=E>><, <564G=4D>4=>< GD>6=5 
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�D<?>65=<5 4.  

�<EF >5M5GG55=OE 4>EF<65=<= >5GG4NM57>EO  

$�� _______________________  
7  �D<F5D<<  I 7>4 >5GG5=<O  

�>?G7>4<5  �>=5F 7>44  

1  �F=>L5=<5 > 74=OF<N 6 F5?><: ?>?>6<F5?L=>5      

557D47?<G=>5      

=574F<6=>5      

2  'D>65=L ?>7=464F5?L=>7> <=F5D5E4:  
<=F5D5E ?D>O6?O5FEO G4EF>  

    

D54>>      

?>GF< =<>>744      

3  �=<<4=<5: >F?<G=>5      

ED54=55      

?57>> >F6?5>45FEO      

4  &5<? D45>FO: >?5D5645F F5<? D45>FO 
>5N54<=5=<O E 6OE>><< >4G5EF6>< 
D45>FO  

    

>?5D5645F F5<? D45>FO >5N54<=5=<O E 
=54>EF4F>G=O< >4G5EF6>< D45>FO  

    

E>>F65FEF6G5F F5<?G 74=OF<O      

>FEF45F >F F5<?4 74=OF<O      

5  �D>D<?5=<5 D45>F:  ?> 
6E5< FD55>64=<O<  

    

G4EF<G=> =4DGL5=O FD55>64=<O      

557 6O?>?=5=<O FD55>64=<=      

>D4E<6>      

4>>GD4F=>      

7DO7=>      

6  '<5=<5 >D74=<7>6O64FL < >>=FD>?<D>64FL 
E6>N D45>FG =4 74=OF<<:   
6E5744  
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<=>744      

=<>>744      

7  �D>O6?5=<5 F6>DG5EF64:       

 6E5744    

  <=>744      

  =<>>744      

8  �5M5GG55=O5 =46O>< >E6>5=O: >F?<G=>      

  E>D>L>      

  G4>6?5F6>D<F5?L=>      

  ??>E>      
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�D<?>65=<5 5.  

�D>F>>>? D57G?LF4F>6 ?D><56GF>G=>= 4FF5EF4F<< >5GG4NM<EEO 

20__-20__ GG55=>7> 7>44  

�DG6>>: _________________________________________________________  
�DG??4: __________________________________________________________  
'D>65=L ?D>7D4<<O: _______________________________________________  
$.�.�. ?5447>74: _______________________________________  

$>D<4 >F5=>< D57G?LF4F>6: GD>65=L (6OE>><=, ED54=<=, =<7><=)  
7 

?/?  

$�� GG4M<EEO  $>D<4 4FF5EF4F<<  'D>65=L 7=4=<=  

1    

  

  

2      

3      

4      

5      

6      

7      

8      

9      

10      

11      

12      

13      

14      

'E?>6=O5 >5>7=4G5=<O:  

  4 6OE>><= GD>65=L 7=4=<=    4 =<7><= GD>65=L 7=4=<=  
   4 ED54=<= GD>65=L 7=4=<=  

 �=4?<7 ?D><56GF>G=>= 4FF5EF4F<<:  
�E57> 4FF5EF>64=>:  _______________  
�OE>><= GD>65=L: _______________  
%D54=<= GD>65=L: _______________  

�<7><= GD>65=L:  ________________  

 

$.�.� ���: ___________________ ?>4?<EL ___________________________  
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�D<?>65=<5 6. 

�D>F>>>? D57G?LF4F>6 <F>7>6>= 4FF5EF4F<< >5GG4NM<EEO  
20___-20___ GG55=>7> 7>44  

�DG6>>: __________________________________________________________  
�DG??4: __________________________________________________________  
'D>65=L ?D>7D4<<O: _______________________________________________  
$.�.�. ?5447>74: __________________________________________________  
$>D<4 >F5=>< D57G?LF4F>6: GD>65=L (6OE>><=, ED54=<=, =<7><=)  
7  
?/?  

$�� GG4M<EEO  
$>D<4 4FF5EF4F<<  

'D>65=L 7=4=<=  

1    

  

  

2      

3      

4      

5      

6      

7      

8      

9      

10      

11      

12      

13      

14      

'E?>6=O5 >5>7=4G5=<O:  

             4 6OE>><= GD>65=L 7=4=<=    4 =<7><= GD>65=L 7=4=<=  
  

  4 ED54=<= GD>65=L 7=4=<=  
  

�=4?<7 <F>7>6>= 4FF5EF4F<<:  
�E57> 4FF5EF>64=>:  _______________  
�OE>><= GD>65=L: _______________  
%D54=<= GD>65=L:  _______________  

�<7><= GD>65=L:           ________________  
  

$.�.� ���: __________________ ?>4?<EL ___________________________  
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